

# Amerigroup Community Care

Access Analysis

October 26, 2022

#### **PCPs** - Urban

October 26, 2022

Access Analysis

Adult\_PCP\_Urban(2 prov in 8 Miles)

Member / Provider Groups

Adult Urban Members (EAST\_URBAN)

PCPs (EAST\_URBAN)

Members With and Without Access												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Columbia, GA		PCPs	2 in 8 miles	167		1,723	93.6	118		2.1	2.3	
Richmond, GA	4,996	PCPs	2 in 8 miles	354	14.1		94.7	264	5.3	2.3	2.4	
Grand Totals	6,837	PCPs	2 in 8 miles	521	13.1	6,455	94.4	382	5.6	2.2	2.4	
© 2022 Queet Analytics III C												

#### **PCPs - Rural**

October 26, 2022

Access Analysis

Adult\_PCP - Rural (2 prov in 15 Miles)

Member / Provider Groups

Adult Rural Members (EAST\_RURAL)

PCPs

Members With and Without Access												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Burke, GA		PCPs	2 in 15 miles	15	30.9	380	81.9	84	18.1	6.9	7.4	
Emanuel, GA	436	PCPs	2 in 15 miles	25	17.4	436	100.0	0	0.0	3.0	3.3	
Glascock, GA	58	PCPs	2 in 15 miles	5	11.6	58	100.0	0	0.0	3.0	3.1	
Greene, GA	217	PCPs	2 in 15 miles	43	5.0	217	100.0	0	0.0	2.9	3.2	
Hancock, GA	113	PCPs	2 in 15 miles	9	12.6	113	100.0	0	0.0	4.5	4.9	
Jefferson, GA	298	PCPs	2 in 15 miles	28	10.6	294	98.7	4	1.3	2.8	4.6	
Jenkins, GA	171	PCPs	2 in 15 miles	6	28.5	168	98.2	3	1.8	4.7	4.7	
Lincoln, GA	115	PCPs	2 in 15 miles	5	23.0	115	100.0	0	0.0	4.7	5.0	
McDuffie, GA	567	PCPs	2 in 15 miles	12	47.3	567	100.0	0	0.0	3.3	3.6	
Putnam, GA	276	PCPs	2 in 15 miles	23			100.0	0	0.0	3.3	4.3	
Taliaferro, GA	29	PCPs	2 in 15 miles	6	4.8	29	100.0	0	0.0	2.3	3.1	
Warren, GA	138	PCPs	2 in 15 miles	5	27.6	138	100.0	0	0.0	3.3	3.4	
Washington, GA	276	PCPs	2 in 15 miles	33			100.0	0	0.0	3.1	3.5	
Wilkes, GA		PCPs	2 in 15 miles	15		177	98.9	2	1.1	3.9	4.3	
Grand Totals	3,337	PCPS	2 in 15 miles	230	14.5	3,244	97.2	93	2.8	3.9	4.4	

#### **Pediatricians - Urban**

October 26, 2022

Access Analysis
Child Pediatricians- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)
Pediatricians

Ichmond, GA         13,944         Pediatricians         2 in 8 miles         351         39.7         13,386         96.0         558         4.0         2.3         2.3           Grand Totals         19,673         Pediatricians         2 in 8 miles         515         38.2         18,727         95.2         946         4.8         2.2         2.3	Members With and Without Access												
County		Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
ichmond, GA 13,944 Pediatricians 2 in 8 miles 351 39.7 13,386 96.0 558 4.0 2.3 2.3 Grand Totals 19,673 Pediatricians 2 in 8 miles 515 38.2 18,727 95.2 946 4.8 2.2 2.3	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Grand Totals 19,673 Pediatricians 2 in 8 miles 515 38.2 18,727 95.2 946 4.8 2.2 2.3	Columbia, GA											2.3	
	Richmond, GA	13,944	Pediatricians	2 in 8 miles	351	39.7	13,386	96.0	558	4.0	2.3	2.3	
	Grand Totals	19 673	Pediatricians	2 in 8 miles	515	38.2	18 727	95.2	946	4 8	2.2	23	
	Grana rotais	10,070	i Calatrolaris	Z III O IIIIIOS	313	50.2	10,727	33.2	340	7.0	2.2	2.0	
	© 2022 Quest Analytics, LLC.												

#### **Pediatricians - Rural**

October 26, 2022

Access Analysis
Child Pediatricians- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatricians

	Members With and Without Access												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Burke, GA	1,609	Pediatricians	2 in 15 miles	15	107.3	1,304	81.0	305	19.0	6.7	7.1		
Emanuel, GA	1,397	Pediatricians	2 in 15 miles	24	58.2	1,392	99.6	5	0.4	3.4	3.7		
Glascock, GA	177	Pediatricians	2 in 15 miles	5	35.4	177	100.0	0	0.0	4.0	4.0		
Greene, GA	750	Pediatricians	2 in 15 miles	40		750			0.0	3.4	3.4		
Hancock, GA	303	Pediatricians	2 in 15 miles	9	33.7		100.0	0	0.0	4.9	5.2		
Jefferson, GA	874	Pediatricians	2 in 15 miles	28		863	98.7	11	1.3		4.6		
Jenkins, GA	559	Pediatricians	2 in 15 miles	6	93.2	552	98.7	7	1.3		4.7		
Lincoln, GA	311	Pediatricians	2 in 15 miles	5	62.2		100.0		0.0		4.8		
McDuffie, GA	1,796	Pediatricians	2 in 15 miles	12		1,796	100.0	0	0.0	3.4	3.7		
Putnam, GA	915	Pediatricians	2 in 15 miles	23	39.8	915	100.0	0	0.0	3.5	4.5		
Taliaferro, GA	71	Pediatricians	2 in 15 miles	6	11.8	71	100.0	0	0.0	3.0	4.0		
Warren, GA	391	Pediatricians	2 in 15 miles	5	78.2	391	100.0	0	0.0	3.7	3.7		
Washington, GA	814	Pediatricians	2 in 15 miles	33	24.7	814	100.0	0	0.0	3.1	3.4		
Wilkes, GA	617	Pediatricians	2 in 15 miles	15	41.1	599	97.1	18	2.9	4.4	4.8		
Grand Totals	10,584	Pediatricians	2 in 15 miles	226	46.8	10,238	96.7	346	3.3	4.0	4.5		
		l											

### **Adult Allergy/Immunology - Urban**

October 26, 2022

Access Analysis

Adult\_Allergy/Immunology - Urban

Member / Provider Groups

Adult Urban Members (EAST\_URBAN)

Adult\_Allergy/Immunology
(EAST\_URBAN)

Members With and Without Access												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Columbia, GA	1,841	Adult_Allergy/Immunol	1 in 30 miles	4	460.3		100.0		0.0	5.2	5.7	
Richmond, GA	4,996	Adult_Allergy/Immunol	1 in 30 miles	20	249.8	4,996	100.0	0	0.0	4.3		
								_				
Grand Totals	6,837	Adult_Allergy/Immunol	1 in 30 miles	24	284.9	6,837	100.0	0	0.0	4.5	5.4	
© 2022 Ouget Analytics LLC			I	1								

# **Adult Allergy/Immunology - Rural**

October 26, 2022

Access Analysis

Adult\_Allergy/Immunology - Rural

Member / Provider Groups

Adult Rural Members (EAST\_RURAL)

Adult\_Allergy/Immunology
(EAST\_RURAL)

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Burke, GA	464	Adult_Allergy/Immunol	1 in 45 miles	2	232.0	464	100.0	0	0.0	8.1	8.6	
Emanuel, GA	436	Adult_Allergy/Immunol	1 in 45 miles	2	218.0	436	100.0	0	0.0	5.2	7.2	
Glascock, GA	58	Adult_Allergy/Immunol	1 in 45 miles	1	58.0		100.0	0	0.0	3.6		
Greene, GA		Adult_Allergy/Immunol	1 in 45 miles	0			100.0	0	0.0	16.7	26.5	
Hancock, GA		Adult_Allergy/Immunol	1 in 45 miles	1	113.0		100.0	0	0.0	5.8	23.5	
Jefferson, GA		Adult_Allergy/Immunol	1 in 45 miles	2	149.0			0	0.0	5.0	15.2	
Jenkins, GA		Adult_Allergy/Immunol	1 in 45 miles	0			100.0	0	0.0	21.8	21.9	
Lincoln, GA		Adult_Allergy/Immunol	1 in 45 miles	0			100.0	0	0.0	19.4	19.6	
McDuffie, GA		Adult_Allergy/Immunol	1 in 45 miles	0				0	0.0	14.1	20.2	
Putnam, GA	276	Adult_Allergy/Immunol	1 in 45 miles	0			100.0	0	0.0	24.5	40.5	
Taliaferro, GA		Adult_Allergy/Immunol	1 in 45 miles	1	29.0	29	100.0	0	0.0	6.3	17.8	
Warren, GA		Adult_Allergy/Immunol	1 in 45 miles	1	138.0			0	0.0	3.5	15.1	
Washington, GA	276	Adult_Allergy/Immunol	1 in 45 miles	8	34.5		100.0	0	0.0	4.2	4.4	
Wilkes, GA	179	Adult_Allergy/Immunol	1 in 45 miles	2	89.5	179	100.0	0	0.0	4.8	5.1	
Grand Totals	3,337	Adult_Allergy/Immunol	1 in 45 miles	20	166.9	3,337	100.0	0	0.0	10.6	16.2	
						_						

### **Adult Cardiology -Urban**

October 26, 2022

Access Analysis

Adult\_Cardiology - Urban

Member / Provider Groups

Adult Urban Members (EAST\_URBAN)

Adult\_Cardiology (EAST\_URBAN)

Richmond, GA 4,996 Adult_Cardiology 1 in 30 miles 1144 34.7 4,996 100.0 0 0.0 3.2 4.8 Grand Totals 6,837 Adult_Cardiology 1 in 30 miles 196 34.9 6,837 100.0 0 0.0 3.2 4.3	Members With and Without Access												
County		Member	F	Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
Richmond, GA 4,996 Adult_Cardiology 1 in 30 miles 1144 34.7 4,996 100.0 0 0.0 3.2 4.8 Grand Totals 6,837 Adult_Cardiology 1 in 30 miles 196 34.9 6,837 100.0 0 0.0 3.2 4.3	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Grand Totals 6,837 Adult_Cardiology 1 in 30 miles 196 34.9 6,837 100.0 0 0.0 3.2 4.3	Columbia, GA								0			3.6	
	Richmond, GA	4,996	Adult_Cardiology	1 in 30 miles	144	34.7	4,996	100.0	0	0.0	3.2	4.6	
	0 17.1	0.007		4 : 00 "	400	04.0	0.007	4000			2.0	4.0	
	Grand Totals	6,837	Adult_Cardiology	1 in 30 miles	196	34.9	6,837	100.0	0	0.0	3.2	4.3	
	© 2022 Quest Analytics, LLC.												

### **Adult Cardiology - Rural**

October 26, 2022

Access Analysis
Adult\_Cardiology - Rural

Member / Provider Groups
Adult Rural Members (EAST\_RURAL)
Adult\_Cardiology (EAST\_RURAL)

Members With and Without Access												
	Member	Р	rovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Burke, GA	464	Adult_Cardiology	1 in 45 miles	30	15.5	464	100.0	0	0.0	6.1	8.1	
Emanuel, GA	436	Adult_Cardiology	1 in 45 miles	7	62.3	436	100.0	0	0.0	4.6	5.9	
Glascock, GA	58	Adult_Cardiology	1 in 45 miles	1	58.0	58	100.0	0	0.0	3.1	8.7	
Greene, GA	217	Adult_Cardiology	1 in 45 miles	19	11.4	217	100.0	0	0.0	6.8	9.4	
Hancock, GA	113	Adult_Cardiology	1 in 45 miles	2	56.5	113	100.0	0	0.0	4.8	13.8	
Jefferson, GA	298	Adult_Cardiology	1 in 45 miles	5	59.6	298	100.0	0	0.0	4.6	6.4	
Jenkins, GA	171	Adult_Cardiology	1 in 45 miles	1	171.0	171	100.0	0	0.0	12.0	20.9	
Lincoln, GA	115	Adult_Cardiology	1 in 45 miles	1	115.0	115	100.0	0	0.0	6.2	12.0	
McDuffie, GA	567	Adult_Cardiology	1 in 45 miles	7	81.0	567	100.0	0	0.0	3.0	3.3	
Putnam, GA	276	Adult_Cardiology	1 in 45 miles	25	11.0	276	100.0	0	0.0	3.2	4.0	
Taliaferro, GA	29	Adult_Cardiology	1 in 45 miles	2	14.5	29	100.0	0	0.0	5.7	6.7	
Warren, GA	138	Adult_Cardiology	1 in 45 miles	3	46.0	138	100.0	0	0.0	2.9	6.0	
Washington, GA	276	Adult_Cardiology	1 in 45 miles	35	7.9	276	100.0	0	0.0	4.1	4.3	
Wilkes, GA	179	Adult_Cardiology	1 in 45 miles	19	9.4	179	100.0	0	0.0	4.0		
Grand Totals	3,337	Adult_Cardiology	1 in 45 miles	157	21.3	3,337	100.0	0	0.0	4.9	7.0	
			1									

# **Adult Endocrinology - Urban**

October 26, 2022

Access Analysis

Adult\_Endocrinology - Urban

Member / Provider Groups

Adult Urban Members (EAST\_URBAN)

Adult\_Endocrinology
(EAST\_URBAN)

Members With and Without Access												
	Member	Р	rovider	Counts	Ratio Members			Without Ac	cess	Average		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Columbia, GA	1,841	Adult_Endocrinology	1 in 30 miles	9		1,841	100.0	0	0.0	4.3	5.3	
Richmond, GA	4,996	Adult_Endocrinology	1 in 30 miles	28	178.4	4,996	100.0	0	0.0	3.2	3.8	
Grand Totals	6,837	Adult_Endocrinology	1 in 30 miles	37	184.8	6,837	100.0	0	0.0	3.5	4.2	
© 2022 Quest Analytics III C							<u> </u>					

### **Adult Endocrinology - Rural**

October 26, 2022

Access Analysis
Adult\_Endocrinology - Rural

Member / Provider Groups
Adult Rural Members (EAST\_RURAL)
Adult\_Endocrinology
(EAST\_RURAL)

	Members With and Without Access												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Burke, GA	464	Adult_Endocrinology	1 in 45 miles	3	154.7	464	100.0	0	0.0	7.9	8.2		
Emanuel, GA	436	Adult_Endocrinology	1 in 45 miles	2	218.0		100.0	0	0.0	5.2	7.2		
Glascock, GA	58	Adult_Endocrinology	1 in 45 miles	1	58.0		100.0	0	0.0	3.6	12.8		
Greene, GA	217	Adult_Endocrinology	1 in 45 miles	0			100.0	0	0.0	16.7	26.5		
Hancock, GA	113	Adult_Endocrinology	1 in 45 miles	1	113.0	113	100.0	0	0.0	5.8	23.5		
Jefferson, GA	298	Adult_Endocrinology	1 in 45 miles	2	149.0		100.0	0	0.0	10.4	11.4		
Jenkins, GA	171	Adult_Endocrinology	1 in 45 miles	0		171	100.0	0	0.0	21.8	21.9		
Lincoln, GA	115	Adult_Endocrinology	1 in 45 miles	0		115	100.0	0	0.0	18.7	19.5		
McDuffie, GA	567	Adult_Endocrinology	1 in 45 miles	1	567.0	567	100.0	0	0.0	6.2	14.2		
Putnam, GA	276	Adult_Endocrinology	1 in 45 miles	0		276	100.0	0	0.0	24.5	40.5		
Taliaferro, GA	29	Adult_Endocrinology	1 in 45 miles	1	29.0	29	100.0	0	0.0	6.3	17.8		
Warren, GA	138	Adult_Endocrinology	1 in 45 miles	1	138.0	138	100.0	0	0.0	3.5	14.2		
Washington, GA	276	Adult_Endocrinology	1 in 45 miles	8	34.5	276	100.0	0	0.0	4.2	4.4		
Wilkes, GA	179	Adult_Endocrinology	1 in 45 miles	2	89.5	179	100.0	0	0.0	4.7	5.1		
Grand Totals	3,337	Adult_Endocrinology	1 in 45 miles	22	151.7	3,337	100.0	0	0.0	9.7	14.8		
			I.	l									

#### **Adult ENT - Urban**

October 26, 2022

Access Analysis
Adult\_ENT- Urban

Member / Provider Groups
Adult Urban Members (EAST\_URBAN)
Adult\_ENT (EAST\_URBAN)

Members With and Without Access												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Columbia, GA	1,841	Adult_ENT	1 in 30 miles	28	65.8	1,841	100.0	0	0.0	3.7	5.6	
Richmond, GA	4,996	Adult_ENT	1 in 30 miles	57	87.6	4,996	100.0	0	0.0	4.3		
Grand Totals	6,837	Adult_ENT	1 in 30 miles	85	80.4	6,837	100.0	0	0.0	4.1	5.5	
© 2022 Quest Analytics III C												

#### **Adult ENT - Rural**

October 26, 2022

Access Analysis

Adult\_ENT - Rural

Member / Provider Groups
Adult Rural Members (EAST\_RURAL)
Adult\_ENT (EAST\_RURAL)

	Members With and Without Access											
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Burke, GA	464	Adult_ENT	1 in 45 miles	3	154.7	464	100.0	0	0.0	6.3	8.5	
Emanuel, GA	436	Adult_ENT	1 in 45 miles	3	145.3		100.0		0.0	5.0	6.1	
Glascock, GA	58	Adult_ENT	1 in 45 miles	1	58.0	58	100.0	0	0.0	3.6	12.8	
Greene, GA	217	Adult_ENT	1 in 45 miles	6	36.2		100.0		0.0	11.2	13.6	
Hancock, GA	113	Adult_ENT	1 in 45 miles	1	113.0	113	100.0	0	0.0	5.8	21.8	
Jefferson, GA	298	Adult_ENT	1 in 45 miles	1	298.0		100.0		0.0	10.8	17.9	
Jenkins, GA	171	Adult_ENT	1 in 45 miles	0		171	100.0	0	0.0	19.8	21.8	
Lincoln, GA	115	Adult_ENT	1 in 45 miles	1	115.0		100.0		0.0	5.4	18.7	
McDuffie, GA	567	Adult_ENT	1 in 45 miles	3	189.0	567	100.0	0	0.0	3.6	4.1	
Putnam, GA	276	Adult_ENT	1 in 45 miles	0		276	100.0	0	0.0	15.7	16.0	
Taliaferro, GA	29	Adult_ENT	1 in 45 miles	1	29.0	29	100.0	0	0.0	6.3	17.7	
Warren, GA	138	Adult_ENT	1 in 45 miles	1	138.0	138	100.0		0.0	3.4	11.8	
Washington, GA	276	Adult_ENT	1 in 45 miles	9	30.7	276	100.0	0	0.0	4.2	4.4	
Wilkes, GA	179	Adult_ENT	1 in 45 miles	4	44.8	179	100.0	0	0.0	4.6	4.9	
Grand Totals	3,337	Adult_ENT	1 in 45 miles	34	98.1	3,337	100.0	0	0.0	7.4	10.5	
			1									

# **Adult Gastroenterology - Urban**

October 26, 2022

Access Analysis

Adult\_Gastreontology - Urban

Member / Provider Groups

Adult Urban Members (EAST\_URBAN)

Adult\_Gastroenterology
(EAST\_URBAN)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Columbia, GA	1,841	Adult_Gastroenterology	1 in 30 miles	22			100.0		0.0	3.5			
Richmond, GA	4,996	Adult_Gastroenterology	1 in 30 miles	53	94.3	4,996	100.0	0	0.0	4.1	4.9		
Grand Totals	6 837	Adult_Gastroenterology	1 in 30 miles	75	91.2	6 837	100.0	0	0.0	3.9	5.0		
Granu Totals	0,037	Addit_Gastioenterology	T III 30 IIIIIes	13	91.2	0,007	100.0	U	0.0	5.9	3.0		
© 2022 Quest Analytics LLC		•	•	•	•		-			•			

# **Adult Gastroenterology - Rural**

October 26, 2022

Access Analysis

Adult\_Gastreontology- Rural

Member / Provider Groups

Adult Rural Members (EAST\_RURAL)

Adult\_Gastroenterology
(EAST\_RURAL)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Patio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Burke, GA	464	Adult_Gastroenterology	1 in 45 miles	3	154.7		100.0	0	0.0	8.0	8.2	
Emanuel, GA	436	Adult_Gastroenterology	1 in 45 miles	3	145.3		100.0	0	0.0	3.6	6.8	
Glascock, GA		Adult_Gastroenterology	1 in 45 miles	1	58.0		100.0	0	0.0	3.6	12.8	
Greene, GA		Adult_Gastroenterology	1 in 45 miles	10	21.7		100.0	0	0.0	10.4	12.4	
Hancock, GA		Adult_Gastroenterology	1 in 45 miles	1	113.0		100.0	0	0.0	5.7	21.5	
Jefferson, GA		Adult_Gastroenterology	1 in 45 miles	2	149.0		100.0	0	0.0	10.4	11.4	
Jenkins, GA	171	Adult_Gastroenterology	1 in 45 miles	0			100.0	0	0.0	20.4	21.8	
Lincoln, GA		Adult_Gastroenterology	1 in 45 miles	0			100.0	0	0.0	18.7	19.5	
McDuffie, GA	567	Adult_Gastroenterology	1 in 45 miles	1	567.0		100.0	0	0.0	6.2	14.2	
Putnam, GA	276	Adult_Gastroenterology	1 in 45 miles	1	276.0		100.0	0	0.0	5.2	15.7	
Taliaferro, GA	29	Adult_Gastroenterology	1 in 45 miles	1	29.0	29	100.0	0	0.0	6.3	17.6	
Warren, GA	138	Adult_Gastroenterology	1 in 45 miles	1	138.0	138	100.0	0	0.0	3.5	14.2	
Washington, GA	276	Adult_Gastroenterology	1 in 45 miles	8	34.5	276	100.0	0	0.0	4.2	4.4	
Wilkes, GA	179	Adult_Gastroenterology	1 in 45 miles	2	89.5	179	100.0	0	0.0	4.7	5.1	
Grand Totals	3,337	Adult_Gastroenterology	1 in 45 miles	34	98.1	3,337	100.0	0	0.0	7.4	11.7	

### **Adult Hematology/Oncology - Urban**

October 26, 2022

Access Analysis

Adult\_Hemotology/Oncology- Urban

Member / Provider Groups

Adult Urban Members (EAST\_URBAN)

Adult\_Hematology/Oncology
(EAST\_URBAN)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Columbia, GA			1 in 30 miles	8			100.0		0.0	3.5	3.6		
Richmond, GA	4,996	Adult_Hematology/On	1 in 30 miles	99	50.5	4,996	100.0	0	0.0	4.8	5.3		
0 1711	0.007	A	4: 00 "	407	00.0	0.007	400.0	0	0.0	4.5	4.0		
Grand Totals	6,837	Adult_Hematology/On	1 in 30 miles	107	63.9	6,837	100.0	0	0.0	4.5	4.8		
© 2022 Queet Analytics III C													

### **Adult Hematology/Oncology - Rural**

October 26, 2022

Access Analysis

Adult\_Hemotology/Oncology - Rural

Member / Provider Groups

Adult Rural Members (EAST\_RURAL)

Adult\_Hematology/Oncology
(EAST\_RURAL)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Burke, GA	464	Adult_Hematology/On	1 in 45 miles	0		66	14.2	398	85.8	50.2	73.5	
Emanuel, GA	436	Adult_Hematology/On	1 in 45 miles	0		22	5.0	414	95.0	50.9	85.8	
Glascock, GA		,	1 in 45 miles	0			100.0	0	0.0	26.0	37.3	
Greene, GA		_ 0,	1 in 45 miles	16	13.6		100.0	0	0.0	10.7	11.2	
Hancock, GA		,	1 in 45 miles	0		113		0	0.0	23.2	24.1	
Jefferson, GA		Adult_Hematology/On	1 in 45 miles	0		298		0	0.0	29.7	53.9	
Jenkins, GA	171	Adult_Hematology/On	1 in 45 miles	0		4	2.3	167	97.7	54.4	86.3	
Lincoln, GA	115	Adult_Hematology/On	1 in 45 miles	0		115	100.0	0	0.0	19.4	53.4	
McDuffie, GA	567	Adult_Hematology/On	1 in 45 miles	0		567	100.0	0	0.0	31.2	43.0	
Putnam, GA	276	Adult_Hematology/On	1 in 45 miles	2	138.0	276		0	0.0	12.5	12.6	
Taliaferro, GA	29	Adult_Hematology/On	1 in 45 miles	0		29	100.0	0	0.0	17.7	21.7	
Warren, GA		Adult_Hematology/On	1 in 45 miles	0		138	100.0	0	0.0	24.2	32.2	
Washington, GA	276	Adult_Hematology/On	1 in 45 miles	1	276.0	276	100.0	0	0.0	6.0	51.2	
Wilkes, GA	179	Adult_Hematology/On	1 in 45 miles	1	179.0	179	100.0	0	0.0	5.0	40.1	
Grand Totals	3,337	Adult_Hematology/On	1 in 45 miles	20	166.9	2,358	70.7	979	29.3	29.9	50.9	
	L		l .									

#### **Adult Nephrology - Urban**

October 26, 2022

Access Analysis

Adult\_Nephrology - Urban

Member / Provider Groups

Adult Urban Members (EAST\_URBAN)

Adult\_Nephrology (EAST\_URBAN)

Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
Member	F	Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
#	Group	Standard	#	to Providers	#	%	#	%	1	2		
		1 in 30 miles		43.8				0.0	3.1	4.8		
4,996	Adult_Nephrology	1 in 30 miles	151	33.1	4,996	100.0	0	0.0	2.2	2.4		
6,837	Adult_Nephrology	1 in 30 miles	193	35.4	6,837	100.0	0	0.0	2.4	3.0		
	# 1,841 4,996	# Group 1,841 Adult_Nephrology 4,996 Adult_Nephrology	Member     Provider       #     Group     Standard       1,841     Adult_Nephrology     1 in 30 miles       4,996     Adult_Nephrology     1 in 30 miles	Member         Provider         Counts           #         Group         Standard         #           1,841         Adult_Nephrology         1 in 30 miles         42           4,996         Adult_Nephrology         1 in 30 miles         151	MemberProviderCountsRatio Members to Providers#GroupStandard#Providers1,841 4,996Adult_Nephrology1 in 30 miles4243.81 in 30 miles15133.1	Member         Provider         Counts         Ratio Members to Providers         With Acceptable           #         Group         Standard         #         to Providers         #           1,841         Adult_Nephrology         1 in 30 miles         42         43.8         1,841           4,996         Adult_Nephrology         1 in 30 miles         151         33.1         4,996	Member         Provider         Counts         Ratio Members to Providers         With Access           #         Group         Standard         #         Providers         #         %           1,841         Adult_Nephrology         1 in 30 miles         42         43.8         1,841         100.0           4,996         Adult_Nephrology         1 in 30 miles         151         33.1         4,996         100.0	Member         Provider         Counts         Ratio Members to Providers         With Access         Without Access           #         Group         Standard         #         Volume to Providers         #         %         #           1,841         Adult_Nephrology         1 in 30 miles         42         43.8         1,841         100.0         0           4,996         Adult_Nephrology         1 in 30 miles         151         33.1         4,996         100.0         0	Member         Provider         Counts         Ratio Members to Providers         With Access         Without Access           #         Group         Standard         #         %         #         %           1,841         Adult_Nephrology         1 in 30 miles         42         43.8         1,841         100.0         0         0.0           4,996         Adult_Nephrology         1 in 30 miles         151         33.1         4,996         100.0         0         0.0	Member         Provider         Counts         Ratio Members to Providers         With Access         Without Access         Average           #         Group         Standard         #         to Providers         #         %         #         %         1           1,841         Adult_Nephrology         1 in 30 miles         42         43.8         1,841         100.0         0         0.0         3.1           4,996         Adult_Nephrology         1 in 30 miles         151         33.1         4,996         100.0         0         0.0         2.2		

#### **Adult Nephrology - Rural**

October 26, 2022

Access Analysis
Adult\_Nephrology - Rural

Member / Provider Groups
Adult Rural Members (EAST\_RURAL)
Adult\_Nephrology (EAST\_RURAL)

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	464	Adult_Nephrology	1 in 45 miles	16	29.0	464	100.0	0	0.0	7.7	7.8
Emanuel, GA	436	Adult_Nephrology	1 in 45 miles	15	29.1		100.0	0	0.0	4.8	5.5
Glascock, GA	58	Adult_Nephrology	1 in 45 miles	1	58.0		100.0	0	0.0	3.6	12.5
Greene, GA	217	Adult_Nephrology	1 in 45 miles	25	8.7		100.0	0	0.0	5.4	5.5
Hancock, GA	113	Adult_Nephrology	1 in 45 miles	1	113.0	113	100.0	0	0.0	5.7	21.4
Jefferson, GA	298	Adult_Nephrology	1 in 45 miles	17			100.0	0	0.0	4.7	5.0
Jenkins, GA	171	Adult_Nephrology	1 in 45 miles	5	34.2	171	100.0	0	0.0	4.6	4.6
Lincoln, GA	115	Adult_Nephrology	1 in 45 miles	0		115	100.0	0	0.0	17.8	17.8
McDuffie, GA	567	Adult_Nephrology	1 in 45 miles	19	29.8	567	100.0	0	0.0	3.3	3.5
Putnam, GA	276	Adult_Nephrology	1 in 45 miles	8	34.5	276	100.0	0	0.0	4.3	4.9
Taliaferro, GA	29	Adult_Nephrology	1 in 45 miles	1	29.0	29	100.0	0	0.0	6.2	15.1
Warren, GA	138	Adult_Nephrology	1 in 45 miles	3	46.0	138	100.0	0	0.0	2.8	3.0
Washington, GA	276	Adult_Nephrology	1 in 45 miles	13	21.2	276	100.0	0	0.0	4.2	4.2
Wilkes, GA	179	Adult_Nephrology	1 in 45 miles	9	19.9	179	100.0	0	0.0	4.5	4.7
Grand Totals	3,337	Adult_Nephrology	1 in 45 miles	133	25.1	3,337	100.0	0	0.0	5.2	6.2
			<u>l</u>								

### **Adult Dermatology - Urban**

October 26, 2022

Access Analysis

Adult\_Dermatology - Urban

Member / Provider Groups

Adult Urban Members (EAST\_URBAN)

Adult\_Dermatology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Columbia, GA	1,841	Adult_Dermatology	1 in 30 miles	3			100.0		0.0	5.3			
Richmond, GA	4,996	Adult_Dermatology	1 in 30 miles	29	172.3	4,996	100.0	0	0.0	3.9	5.1		
Grand Totals	6,837	Adult_Dermatology	1 in 30 miles	32	213.7	6,837	100.0	0	0.0	4.3	5.3		

### **Adult Dermatology - Rural**

October 26, 2022

Access Analysis
Adult\_Dermatology - Rural

Member / Provider Groups
Adult Rural Members (EAST\_RURAL)
Adult\_Dermatology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Burke, GA	464	Adult_Dermatology	1 in 45 miles	0		462	99.6	2	0.4	27.3	29.0	
Emanuel, GA	436	Adult_Dermatology	1 in 45 miles	0		436	100.0	0	0.0	27.8	34.2	
Glascock, GA	58	Adult_Dermatology	1 in 45 miles	0			100.0	0	0.0	23.7	37.8	
Greene, GA		Adult_Dermatology	1 in 45 miles	0			100.0	0	0.0	30.4	33.1	
Hancock, GA	113	Adult_Dermatology	1 in 45 miles	0		113	100.0	0	0.0	23.3	24.0	
Jefferson, GA	298	Adult_Dermatology	1 in 45 miles	0		259	86.9	39	13.1	32.8	38.5	
Jenkins, GA	171	Adult_Dermatology	1 in 45 miles	0		171	100.0	0	0.0	30.5	32.4	
Lincoln, GA	115	Adult_Dermatology	1 in 45 miles	0		115	100.0	0	0.0	19.4	31.9	
McDuffie, GA	567	Adult_Dermatology	1 in 45 miles	1	567.0	567	100.0	0	0.0	6.5	22.2	
Putnam, GA	276	Adult_Dermatology	1 in 45 miles	0		276	100.0	0	0.0	22.0	22.0	
Taliaferro, GA	29	Adult_Dermatology	1 in 45 miles	0		29	100.0	0	0.0	24.5	42.1	
Warren, GA	138	Adult_Dermatology	1 in 45 miles	0		138	100.0	0	0.0	16.4	34.1	
Washington, GA	276	Adult_Dermatology	1 in 45 miles	0		276	100.0	0	0.0	28.9	29.2	
Wilkes, GA	179	Adult_Dermatology	1 in 45 miles	0		179	100.0	0	0.0	27.2	39.0	
Grand Totals	3,337	Adult_Dermatology	1 in 45 miles	1	3,337.0	3,296	98.8	41	1.2	23.4	30.2	
			<u> </u>									

# **Adult Rheumatology - Urban**

October 26, 2022

Access Analysis

Adult\_Rheumatology- Urban

Member / Provider Groups

Adult Urban Members (EAST\_URBAN)

Adult\_Rheumatology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member Pro # Group  1,841 Adult_Rheumatology		ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Columbia, GA	1,841	Adult_Rheumatology	1 in 30 miles	0		1,841	100.0	0	0.0	7.2	7.2		
Richmond, GA	4,996	Adult_Rheumatology	1 in 30 miles	17	293.9	4,996	100.0	0	0.0	5.6	5.6		
		= .						_					
Grand Totals	6,837	Adult_Rheumatology	1 in 30 miles	17	402.2	6,837	100.0	0	0.0	6.0	6.0		
© 2022 Ouget Analytics III C													

### **Adult Rheumatology - Rural**

October 26, 2022

Access Analysis

Adult\_Rheumatology - Rural

Member / Provider Groups

Adult Rural Members (EAST\_RURAL)

Adult\_Rheumatology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance										
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	464	Adult_Rheumatology	1 in 45 miles	0		424	91.4	40	8.6	29.9	29.9
Emanuel, GA	436	Adult_Rheumatology	1 in 45 miles	0		12	2.8	424	97.2	56.9	57.4
Glascock, GA	58	Adult_Rheumatology	1 in 45 miles	0		57	98.3	1	1.7	39.7	40.5
Greene, GA	217	Adult_Rheumatology	1 in 45 miles	1	217.0	217	100.0	0	0.0	13.9	35.2
Hancock, GA	113	Adult_Rheumatology	1 in 45 miles	0		113	100.0	0	0.0	25.0	52.9
Jefferson, GA	298	Adult_Rheumatology	1 in 45 miles	0		227	76.2	71	23.8	40.1	40.1
Jenkins, GA	171	Adult_Rheumatology	1 in 45 miles	0		30	17.5	141	82.5	47.2	47.2
Lincoln, GA	115	Adult_Rheumatology	1 in 45 miles	0		113	98.3	2	1.7	36.6	
McDuffie, GA	567	Adult_Rheumatology	1 in 45 miles	0		567	100.0	0	0.0	23.1	23.1
Putnam, GA	276	Adult_Rheumatology	1 in 45 miles	0		276		0	0.0	15.7	39.7
Taliaferro, GA	29	Adult_Rheumatology	1 in 45 miles	0		29	100.0	0	0.0	24.7	45.7
Warren, GA		Adult_Rheumatology	1 in 45 miles	0		138	100.0	0	0.0	33.1	34.7
Washington, GA	276	Adult_Rheumatology	1 in 45 miles	0		17	6.2	259	93.8	51.5	54.0
Wilkes, GA	179	Adult_Rheumatology	1 in 45 miles	0		176	98.3	3	1.7	40.3	42.4
Grand Totals	3,337	Adult_Rheumatology	1 in 45 miles	1	3,337.0	2,396	71.8	941	28.2	34.5	39.5

#### **Adult Infectious Disease - Urban**

October 26, 2022

Access Analysis

Adult\_Infectious Disease\_Urban

Member / Provider Groups

Adult Urban Members (EAST\_URBAN)

Adult\_Infectious Disease
(EAST\_URBAN)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Columbia, GA	1,841	Adult_Infectious Disease	1 in 30 miles	1	1,841.0		100.0			6.0			
Richmond, GA	4,996	Adult_Infectious Disease	1 in 30 miles	44	113.5	4,996	100.0	0	0.0	3.6	3.8		
Grand Totals	6,837	Adult_Infectious Disease	1 in 30 miles	45	151.9	6,837	100.0	0	0.0	4.3	4.6		

#### **Adult Infectious Disease - Rural**

October 26, 2022

Access Analysis
Adult\_Infectious Disease\_Rural
Member / Provider Groups
Adult Rural Members (EAST\_RURAL)
Adult\_Infectious Disease
(EAST\_RURAL)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Patio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Burke, GA	464	Adult_Infectious Disease	1 in 45 miles	3	154.7	464	100.0	0	0.0	7.9	8.2	
Emanuel, GA	436	Adult_Infectious Disease	1 in 45 miles	2	218.0	436	100.0	0	0.0	5.2	7.2	
Glascock, GA	58	Adult_Infectious Disease	1 in 45 miles	1	58.0	58	100.0	0	0.0	3.6	12.8	
Greene, GA	217	Adult_Infectious Disease	1 in 45 miles	0			100.0	0	0.0	16.7	26.5	
Hancock, GA	113	Adult_Infectious Disease	1 in 45 miles	1	113.0		100.0	0	0.0	5.8	23.5	
Jefferson, GA	298	Adult_Infectious Disease	1 in 45 miles	2	149.0		100.0	0	0.0	10.4	11.4	
Jenkins, GA	171	Adult_Infectious Disease	1 in 45 miles	0			100.0	0	0.0	21.8	21.9	
Lincoln, GA	115	Adult_Infectious Disease	1 in 45 miles	0		115	100.0	0	0.0	18.7	19.5	
McDuffie, GA	567	Adult_Infectious Disease	1 in 45 miles	1	567.0	567	100.0	0	0.0	6.2	14.2	
Putnam, GA	276	Adult_Infectious Disease	1 in 45 miles	0		276	100.0	0	0.0	24.5	40.5	
Taliaferro, GA	29	Adult_Infectious Disease	1 in 45 miles	1	29.0	29	100.0	0	0.0	6.3	17.8	
Warren, GA	138	Adult_Infectious Disease	1 in 45 miles	1	138.0	138	100.0	0	0.0	3.5	14.2	
Washington, GA	276	Adult_Infectious Disease	1 in 45 miles	8	34.5	276	100.0	0	0.0	4.2	4.4	
Wilkes, GA	179	Adult_Infectious Disease	1 in 45 miles	2	89.5	179	100.0	0	0.0	4.7	5.1	
Grand Totals	3,337	Adult_Infectious Disease	1 in 45 miles	22	151.7	3,337	100.0	0	0.0	9.7	14.8	
		l										

# **Adult General Surgery - Urban**

October 26, 2022

Access Analysis

Adult\_General Surgery\_Urban

Member / Provider Groups

Adult Urban Members (EAST\_URBAN)

Adult\_General Surgery
(EAST\_URBAN)

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA	1,841	Adult_General Surgery	1 in 30 miles	57	32.3		100.0		0.0	2.7	2.9
Richmond, GA	4,996	Adult_General Surgery	1 in 30 miles	241	20.7	4,996	100.0	0	0.0	2.7	4.0
Grand Totals	6,837	Adult_General Surgery	1 in 30 miles	298	22.9	6,837	100.0	0	0.0	2.7	3.7
© 2022 Quest Analytics LLC											

# **Adult General Surgery - Rural**

October 26, 2022

Access Analysis
Adult\_General Surgery\_Rural

Member / Provider Groups
Adult Rural Members (EAST\_RURAL)
Adult\_General Surgery
(EAST\_RURAL)

			Members With a	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	464	Adult_General Surgery	1 in 45 miles	2	232.0	464	100.0	0	0.0	7.9	8.4
Emanuel, GA	436	Adult_General Surgery	1 in 45 miles	5	87.2	436	100.0	0	0.0	3.4	5.4
Glascock, GA	58	Adult_General Surgery	1 in 45 miles	1	58.0	58	100.0	0	0.0	3.6	12.8
Greene, GA	217	Adult_General Surgery	1 in 45 miles	18	12.1	217	100.0	0	0.0	10.4	12.4
Hancock, GA	113	Adult_General Surgery	1 in 45 miles	2	56.5	113	100.0	0	0.0	5.6	5.9
Jefferson, GA	298	Adult_General Surgery	1 in 45 miles	2	149.0	298	100.0	0	0.0	5.0	15.2
Jenkins, GA		Adult_General Surgery	1 in 45 miles	1	171.0	171	100.0	0	0.0	4.7	20.5
Lincoln, GA		Adult_General Surgery	1 in 45 miles	0			100.0	0	0.0	12.3	12.3
McDuffie, GA	567	Adult_General Surgery	1 in 45 miles	4	141.8		100.0	0	0.0	11.4	12.4
Putnam, GA		Adult_General Surgery	1 in 45 miles	9	30.7		100.0	0	0.0	4.8	4.8
Taliaferro, GA	29	Adult_General Surgery	1 in 45 miles	1	29.0	29	100.0	0	0.0	6.3	
Warren, GA		Adult_General Surgery	1 in 45 miles	1	138.0		100.0	0	0.0	3.5	15.1
Washington, GA	276	Adult_General Surgery	1 in 45 miles	11	25.1	276	100.0	0	0.0	4.2	4.3
Wilkes, GA	179	Adult_General Surgery	1 in 45 miles	16	11.2	179	100.0	0	0.0	4.7	4.9
Grand Totals	3,337	Adult_General Surgery	1 in 45 miles	73	45.7	3,337	100.0	0	0.0	6.7	9.8

#### **Adult Neurology- Urban**

October 26, 2022

Access Analysis
Adult\_Neurology - Urban

Member / Provider Groups
Adult Urban Members (EAST\_URBAN)
Adult\_Neurology (EAST\_URBAN)

			Members With	and With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA		Adult_Neurology	1 in 30 miles	6	306.8		100.0		0.0	5.3	
Richmond, GA	4,996	Adult_Neurology	1 in 30 miles	113	44.2	4,996	100.0	0	0.0	4.2	4.8
Oursel Tabels	0.007	Adult Namelen	4 in 20 miles	140	57.5	0.007	100.0	0	0.0	4.5	5.0
Grand Totals	6,837	Adult_Neurology	1 in 30 miles	119	57.5	6,837	100.0	0	0.0	4.5	5.0
© 2022 Ouget Analytics LLC					L		Ц				

### **Adult Neurology - Rural**

October 26, 2022

Access Analysis
Adult\_Neurology - Rural

Member / Provider Groups
Adult Rural Members (EAST\_RURAL)
Adult\_Neurology (EAST\_RURAL)

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA		Adult_Neurology	1 in 45 miles	2	232.0		100.0	0	0.0	7.9	8.5
Emanuel, GA		Adult_Neurology	1 in 45 miles	5	87.2		100.0	0	0.0	4.9	5.9
Glascock, GA		Adult_Neurology	1 in 45 miles	1	58.0		100.0	0	0.0	3.6	
Greene, GA		Adult_Neurology	1 in 45 miles	14	15.5		100.0	0	0.0	11.2	
Hancock, GA		Adult_Neurology	1 in 45 miles	1	113.0		100.0	0	0.0	5.7	21.6
Jefferson, GA		Adult_Neurology	1 in 45 miles	1	298.0		100.0	0	0.0	10.8	17.9
Jenkins, GA	171	Adult_Neurology	1 in 45 miles	1	171.0		100.0	0	0.0	4.7	21.8
Lincoln, GA	115	Adult_Neurology	1 in 45 miles	0			100.0	0	0.0	19.4	19.6
McDuffie, GA	567	Adult_Neurology	1 in 45 miles	0			100.0	0	0.0	14.1	20.2
Putnam, GA	276	Adult_Neurology	1 in 45 miles	1	276.0		100.0	0	0.0	12.5	15.7
Taliaferro, GA	29	Adult_Neurology	1 in 45 miles	1	29.0	29	100.0	0	0.0	6.3	17.7
Warren, GA	138	Adult_Neurology	1 in 45 miles	1	138.0	138	100.0	0	0.0	3.5	15.1
Washington, GA	276	Adult_Neurology	1 in 45 miles	11	25.1	276	100.0	0	0.0	4.2	4.4
Wilkes, GA	179	Adult_Neurology	1 in 45 miles	2	89.5	179	100.0	0	0.0	4.8	5.1
Grand Totals	3,337	Adult_Neurology	1 in 45 miles	41	81.4	3,337	100.0	0	0.0	8.8	13.3

### **Adult Ophthalmology - Urban**

October 26, 2022

Access Analysis

Adult\_Ophthalmology- Urban

Member / Provider Groups

Adult Urban Members (EAST\_URBAN)

Adult\_Ophthalmology

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA	1,841	Adult_Ophthalmology	1 in 30 miles	0		1,841	100.0	0	0.0	6.6	6.6
Richmond, GA	4,996	Adult_Ophthalmology	1 in 30 miles	21	237.9	4,996	100.0	0	0.0	5.4	5.5
								_			
Grand Totals	6,837	Adult_Ophthalmology	1 in 30 miles	21	325.6	6,837	100.0	0	0.0	5.7	5.8
© 2022 Quest Analytics II C			<u> </u>		I						

# **Adult Ophthalmology - Rural**

October 26, 2022

Access Analysis
Adult\_Ophthalmology - Rural

Member / Provider Groups
Adult Rural Members (EAST\_RURAL)
Adult\_Ophthalmology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	464	Adult_Ophthalmology	1 in 45 miles	1	464.0	464	100.0	0	0.0	8.7	27.2
Emanuel, GA	436	Adult_Ophthalmology	1 in 45 miles	2	218.0		100.0	0	0.0	6.0	6.0
Glascock, GA	58	Adult_Ophthalmology	1 in 45 miles	0			100.0	0	0.0	36.3	37.8
Greene, GA		Adult_Ophthalmology	1 in 45 miles	4	54.3		100.0	0	0.0	13.9	13.9
Hancock, GA		Adult_Ophthalmology	1 in 45 miles	0			100.0	0	0.0	22.1	22.1
Jefferson, GA	298	Adult_Ophthalmology	1 in 45 miles	0			100.0	0	0.0	26.0	30.4
Jenkins, GA		Adult_Ophthalmology	1 in 45 miles	0			100.0	0	0.0	21.6	29.6
Lincoln, GA	115	Adult_Ophthalmology	1 in 45 miles	0		115	100.0	0	0.0	19.4	36.2
McDuffie, GA	567	Adult_Ophthalmology	1 in 45 miles	0		567	100.0	0	0.0	22.9	23.1
Putnam, GA	276	Adult_Ophthalmology	1 in 45 miles	0		276	100.0	0	0.0	14.1	14.3
Taliaferro, GA	29	Adult_Ophthalmology	1 in 45 miles	0		29	100.0	0	0.0	18.3	24.7
Warren, GA	138	Adult_Ophthalmology	1 in 45 miles	0		138	100.0	0	0.0	24.3	33.0
Washington, GA	276	Adult_Ophthalmology	1 in 45 miles	0		276	100.0	0	0.0	30.4	31.8
Wilkes, GA	179	Adult_Ophthalmology	1 in 45 miles	1	179.0	179	100.0	0	0.0	5.0	40.9
Grand Totals	3,337	Adult_Ophthalmology	1 in 45 miles	8	417.1	3,337	100.0	0	0.0	17.4	23.9
	L		<u> </u>								

#### **Adult Orthopedics - Urban**

October 26, 2022

Access Analysis
Adult\_Orhopedics- Urban

Member / Provider Groups
Adult Urban Members (EAST\_URBAN)
Adult\_Orthopedics

			Members With a	and With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA		Adult_Orthopedics	1 in 30 miles	46			100.0		0.0	2.7	2.9
Richmond, GA	4,996	Adult_Orthopedics	1 in 30 miles	145	34.5	4,996	100.0	0	0.0	2.3	3.5
Grand Totals	6,837	Adult_Orthopedics	1 in 30 miles	191	35.8	6,837	100.0	0	0.0	2.4	3.4
	·					·					
2022 Quest Analytics LLC		•	•	-	•		-			•	

#### **Adult Orthopedics - Rural**

October 26, 2022

Access Analysis
Adult\_Orhopedics- Rural

Member / Provider Groups
Adult Rural Members (EAST\_RURAL)
Adult\_Orthopedics

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	464	Adult_Orthopedics	1 in 45 miles	9	51.6	464	100.0	0	0.0	7.4	7.9
Emanuel, GA	436	Adult_Orthopedics	1 in 45 miles	36	12.1		100.0	0	0.0	3.3	3.8
Glascock, GA		Adult_Orthopedics	1 in 45 miles	1	58.0		100.0	0	0.0	3.6	12.8
Greene, GA		Adult_Orthopedics	1 in 45 miles	9	24.1		100.0	0	0.0	5.9	10.0
Hancock, GA	113	Adult_Orthopedics	1 in 45 miles	1	113.0	113	100.0	0	0.0	5.1	18.7
Jefferson, GA	298	Adult_Orthopedics	1 in 45 miles	4	74.5		100.0	0	0.0	4.6	9.3
Jenkins, GA	171	Adult_Orthopedics	1 in 45 miles	31	5.5	171	100.0	0	0.0	4.3	4.6
Lincoln, GA	115	Adult_Orthopedics	1 in 45 miles	0		115	100.0	0	0.0	10.2	12.3
McDuffie, GA	567	Adult_Orthopedics	1 in 45 miles	15	37.8	567	100.0	0	0.0	3.8	4.1
Putnam, GA	276	Adult_Orthopedics	1 in 45 miles	0		276	100.0	0	0.0	11.5	12.7
Taliaferro, GA	29	Adult_Orthopedics	1 in 45 miles	1	29.0	29	100.0	0	0.0	6.1	13.9
Warren, GA	138	Adult_Orthopedics	1 in 45 miles	1	138.0	138	100.0	0	0.0	3.4	11.1
Washington, GA	276	Adult_Orthopedics	1 in 45 miles	33	8.4	276	100.0	0	0.0	3.5	4.0
Wilkes, GA	179	Adult_Orthopedics	1 in 45 miles	9	19.9	179	100.0	0	0.0	4.4	4.8
		·									
Grand Totals	3,337	Adult_Orthopedics	1 in 45 miles	150	22.2	3,337	100.0	0	0.0	5.4	7.5
		·									

### **Adult Optometry - Urban**

October 26, 2022

Access Analysis

Adult\_Optometry - Urban

Member / Provider Groups

Adult Urban Members (EAST\_URBAN)

Adult\_Optometry

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members			Without Ac	cess	Average	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA	1,841	Adult_Optometry	1 in 30 miles	9	204.6	1,841	100.0	0			
Richmond, GA	4,996	Adult_Optometry	1 in 30 miles	15	333.1	4,996	100.0	0	0.0	3.7	4.9
								_			
Grand Totals	6,837	Adult_Optometry	1 in 30 miles	24	284.9	6,837	100.0	0	0.0	4.1	5.1
© 2022 Ouget Analytics LLC		•			•						

#### **Adult Optometry - Rural**

October 26, 2022

Access Analysis
Adult\_Optometry - Rural

Member / Provider Groups
Adult Rural Members (EAST\_RURAL)
Adult\_Optometry

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	464	Adult_Optometry	1 in 45 miles	2	232.0	464	100.0	0	0.0	9.4	9.4
Emanuel, GA	436	Adult_Optometry	1 in 45 miles	0			100.0	0	0.0	28.4	33.3
Glascock, GA		Adult_Optometry	1 in 45 miles	0			100.0	0	0.0	19.8	19.8
Greene, GA		Adult_Optometry	1 in 45 miles	6	36.2		100.0	0	0.0	13.5	
Hancock, GA		Adult_Optometry	1 in 45 miles	0			100.0	0	0.0	21.7	21.7
Jefferson, GA		Adult_Optometry	1 in 45 miles	0			100.0	0	0.0	25.0	25.1
Jenkins, GA		Adult_Optometry	1 in 45 miles	0			100.0	0	0.0	21.9	22.0
Lincoln, GA	115	Adult_Optometry	1 in 45 miles	0			100.0	0	0.0	23.5	23.5
McDuffie, GA	567	Adult_Optometry	1 in 45 miles	2	283.5		100.0	0	0.0	4.1	4.1
Putnam, GA	276	Adult_Optometry	1 in 45 miles	0			100.0	0	0.0	13.8	
Taliaferro, GA	29	Adult_Optometry	1 in 45 miles	0		29	100.0	0	0.0	23.6	23.6
Warren, GA	138	Adult_Optometry	1 in 45 miles	0		138	100.0	0	0.0	12.2	12.2
Washington, GA	276	Adult_Optometry	1 in 45 miles	0		276	100.0	0	0.0	30.3	31.0
Wilkes, GA	179	Adult_Optometry	1 in 45 miles	0		179	100.0	0	0.0	29.9	29.9
Grand Totals	3,337	Adult_Optometry	1 in 45 miles	10	333.7	3,337	100.0	0	0.0	17.8	18.5

#### **Adult Urology - Urban**

October 26, 2022

Access Analysis
Adult\_Urology- Urban

Member / Provider Groups
Adult Urban Members (EAST\_URBAN)
Adult\_Urology

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA	1,841	Adult_Urology	1 in 30 miles	11		1,841	100.0	0		4.9	
Richmond, GA	4,996	Adult_Urology	1 in 30 miles	29	172.3	4,996	100.0	0	0.0	3.0	3.8
								_			
Grand Totals	6,837	Adult_Urology	1 in 30 miles	40	170.9	6,837	100.0	0	0.0	3.5	4.4
© 2022 Quest Analytics LLC		•	-								

#### **Adult Urology - Rural**

October 26, 2022

Access Analysis
Adult\_Urology- Rural

Member / Provider Groups
Adult Rural Members (EAST\_RURAL)
Adult\_Urology

			Members With	and With	out Access						
	Member	F	Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	464	Adult_Urology	1 in 45 miles	1	464.0	464	100.0	0	0.0	9.4	23.5
Emanuel, GA	436	Adult_Urology	1 in 45 miles	0		436	100.0	0	0.0	27.8	28.0
Glascock, GA	58	Adult_Urology	1 in 45 miles	0		58	100.0	0	0.0	35.4	36.2
Greene, GA	217	Adult_Urology	1 in 45 miles	7	31.0	217	100.0	0	0.0	6.1	13.5
Hancock, GA	113	Adult_Urology	1 in 45 miles	0		113	100.0	0	0.0	21.0	21.6
Jefferson, GA	298	Adult_Urology	1 in 45 miles	0		298	100.0	0	0.0	28.1	36.6
Jenkins, GA	171	Adult_Urology	1 in 45 miles	0		171	100.0	0	0.0	21.9	32.9
Lincoln, GA	115	Adult_Urology	1 in 45 miles	0		115	100.0	0	0.0	19.4	19.4
McDuffie, GA	567	Adult_Urology	1 in 45 miles	0		567	100.0	0	0.0	21.0	22.4
Putnam, GA	276	Adult_Urology	1 in 45 miles	0		276	100.0	0	0.0	14.3	14.4
Taliaferro, GA	29	Adult_Urology	1 in 45 miles	0		29	100.0	0	0.0	12.0	18.2
Warren, GA	138	Adult_Urology	1 in 45 miles	0		138	100.0	0	0.0	24.2	24.3
Washington, GA	276	Adult_Urology	1 in 45 miles	0		276	100.0	0	0.0	30.3	30.5
Wilkes, GA	179	Adult_Urology	1 in 45 miles	3	59.7	179	100.0	0	0.0	5.0	5.0
Grand Totals	3,337	Adult_Urology	1 in 45 miles	11	303.4	3,337	100.0	0	0.0	19.6	23.7

# **Adult Vascular Surgery - Urban**

October 26, 2022

Access Analysis

Adult\_Vascular Surgery- Urban

Member / Provider Groups

Adult Urban Members (EAST\_URBAN)

Adult\_Vascular Surgery

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA	1,841	Adult_Vascular Surgery	1 in 30 miles	5	368.2	1,841	100.0	0	0.0	5.5	5.6
Richmond, GA	4,996	Adult_Vascular Surgery	1 in 30 miles	62	80.6	4,996	100.0	0	0.0	4.6	5.0
Grand Totals	6 927	Adult_Vascular Surgery	1 in 30 miles	67	102.0	6 927	100.0	0	0.0	4.9	5.2
Gianu iolais	0,037	Addit_vascular Surgery	i iii 50 iiiiles	07	102.0	0,037	100.0	U	0.0	4.9	5.2
© 2022 Ouget Analytics LLC	L		l				<u> </u>				

# **Adult Vascular Surgery - Rural**

October 26, 2022

Access Analysis
Adult\_Vascular Surgery- Rural

Member / Provider Groups
Adult Rural Members (EAST\_RURAL)
Adult\_Vascular Surgery

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	464	Adult_Vascular Surgery	1 in 45 miles	0		464	100.0	0	0.0	28.1	28.2
Emanuel, GA	436	Adult_Vascular Surgery	1 in 45 miles	0		436	100.0	0	0.0	24.0	24.1
Glascock, GA	58	Adult_Vascular Surgery	1 in 45 miles	0		58	100.0	0	0.0	26.0	38.6
Greene, GA	217	Adult_Vascular Surgery	1 in 45 miles	1	217.0	217	100.0	0	0.0	11.3	34.0
Hancock, GA	113	Adult_Vascular Surgery	1 in 45 miles	0		113	100.0	0	0.0	22.2	26.2
Jefferson, GA	298	Adult_Vascular Surgery	1 in 45 miles	0		298	100.0	0	0.0	28.4	39.0
Jenkins, GA	171	Adult_Vascular Surgery	1 in 45 miles	0		171	100.0	0	0.0	30.0	30.0
Lincoln, GA	115	Adult_Vascular Surgery	1 in 45 miles	0			100.0	0	0.0		32.1
McDuffie, GA	567	Adult_Vascular Surgery	1 in 45 miles	0		567	100.0	0	0.0	22.5	22.6
Putnam, GA	276	Adult_Vascular Surgery	1 in 45 miles	0			100.0	0	0.0	16.7	22.8
Taliaferro, GA	29	Adult_Vascular Surgery	1 in 45 miles	0		29	100.0	0	0.0	22.0	40.1
Warren, GA		Adult_Vascular Surgery	1 in 45 miles	0		138	100.0	0	0.0	31.4	33.3
Washington, GA		Adult_Vascular Surgery	1 in 45 miles	1	276.0	276	100.0	0	0.0	6.0	31.8
Wilkes, GA	179	Adult_Vascular Surgery	1 in 45 miles	0		179	100.0	0	0.0	38.2	40.7
Grand Totals	3,337	Adult_Vascular Surgery	1 in 45 miles	2	1,668.5	3,337	100.0	0	0.0	23.4	29.2
						_					

### **Audiology- Urban**

October 26, 2022

Access Analysis Audiology- Urban Member / Provider Groups Urban Members (EAST\_URBAN) Audiology

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA		Audiology	1 in 30 miles	2			100.0				6.
Richmond, GA	18,940	Audiology	1 in 30 miles	8	2,367.5	18,940	100.0	0	0.0	5.7	5.7
Grand Totals	26,510	Audiology	1 in 30 miles	10	2,651.0	26,510	100.0	0	0.0	5.8	5.8

#### **Audiology - Rural**

October 26, 2022

Access Analysis Audiology- Rural Member / Provider Groups Rural Members (EAST\_RURAL) Audiology

			Members With	and With	out Access_						
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Audiology	1 in 45 miles	0		1,987	95.9	86	4.1	29.4	29.5
Emanuel, GA	1,833	Audiology	1 in 45 miles	0		1,810	98.7		1.3	34.2	34.2
Glascock, GA	235	Audiology	1 in 45 miles	0		235	100.0	0	0.0	38.3	39.9
Greene, GA	967	Audiology	1 in 45 miles	2	483.5	967	100.0	0	0.0	13.6	14.0
Hancock, GA	416	Audiology	1 in 45 miles	0		416	100.0	0	0.0	21.4	24.9
Jefferson, GA	1,172	Audiology	1 in 45 miles	0		902	77.0	270	23.0	39.8	40.1
Jenkins, GA	730	Audiology	1 in 45 miles	0		730	100.0	0	0.0	30.3	30.3
Lincoln, GA	426	Audiology	1 in 45 miles	0		426	100.0	0	0.0	32.1	32.1
McDuffie, GA	2,363	Audiology	1 in 45 miles	0		2,363	100.0	0	0.0	22.2	22.2
Putnam, GA	1,191	Audiology	1 in 45 miles	1	1,191.0	1,191	100.0	0	0.0	11.9	14.8
Taliaferro, GA	100	Audiology	1 in 45 miles	0		100	100.0	0	0.0	25.4	25.8
Warren, GA	529	Audiology	1 in 45 miles	0		529	100.0	0	0.0	32.3	32.6
Washington, GA	1,090	Audiology	1 in 45 miles	0		1,089	99.9	1	0.1	32.5	49.9
Wilkes, GA	796	Audiology	1 in 45 miles	0		785	98.6	11	1.4	39.3	39.5
Grand Totals	13,921	Audiology	1 in 45 miles	3	4,640.3	13,530	97.2	391	2.8	28.0	29.8

#### **Behavioral Health - Urban**

October 26, 2022

Access Analysis Behavioral Health- Urban Member / Provider Groups Urban Members (EAST\_URBAN) Behavioral Health

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member		Provider	Counts	Ratio Members	With Ac			cess	Average		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Columbia, GA		Behavioral Health	1 in 30 miles	108			100.0		0.0	2.1	3.6	
Richmond, GA	18,940	Behavioral Health	1 in 30 miles	251	75.5	18,940	100.0	0	0.0	1.5	2.0	
Grand Totals	26,510	Behavioral Health	1 in 30 miles	359	73.8	26,510	100.0	0	0.0	1.7	2.4	

#### **Behavioral Health - Rural**

October 26, 2022

Access Analysis
Behavioral Health- Rural
Member / Provider Groups
Rural Members (EAST\_RURAL)
Behavioral Health

			Members With	and With	out Access						
	Member	F	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Behavioral Health	1 in 45 miles	16	129.6	2,073	100.0	0	0.0	6.3	6.6
Emanuel, GA	1,833	Behavioral Health	1 in 45 miles	9	203.7	1,833	100.0	0	0.0	4.7	5.0
Glascock, GA	235	Behavioral Health	1 in 45 miles	1	235.0	235	100.0	0	0.0	3.7	7.9
Greene, GA	967	Behavioral Health	1 in 45 miles	7	138.1	967	100.0	0	0.0	3.0	4.7
Hancock, GA	416	Behavioral Health	1 in 45 miles	5	83.2	416	100.0	0	0.0	4.8	5.1
Jefferson, GA	1,172	Behavioral Health	1 in 45 miles	5	234.4		100.0		0.0	9.5	9.9
Jenkins, GA	730	Behavioral Health	1 in 45 miles	2	365.0	730	100.0	0	0.0	4.7	4.7
Lincoln, GA	426	Behavioral Health	1 in 45 miles	6	71.0		100.0		0.0	3.4	4.9
McDuffie, GA	2,363	Behavioral Health	1 in 45 miles	21	112.5	2,363	100.0	0	0.0	2.7	3.4
Putnam, GA	1,191	Behavioral Health	1 in 45 miles	8	148.9	1,191	100.0	0	0.0	4.2	9.9
Taliaferro, GA	100	Behavioral Health	1 in 45 miles	1	100.0	100	100.0	0	0.0	5.8	7.6
Warren, GA	529	Behavioral Health	1 in 45 miles	3	176.3	529	100.0	0	0.0	3.2	3.7
Washington, GA	1,090	Behavioral Health	1 in 45 miles	20	54.5	1,090	100.0	0	0.0	3.3	3.8
Wilkes, GA	796	Behavioral Health	1 in 45 miles	11	72.4	796	100.0	0	0.0	3.6	4.4
Grand Totals	13,921	Behavioral Health	1 in 45 miles	115	121.1	13,921	100.0	0	0.0	4.6	5.7
		1									

# **Behavioral Health Facilities - Urban**

October 26, 2022

Access Analysis

Behavioral Health Facilities- Urban

Member / Provider Groups

Urban Members (EAST\_URBAN)

Behavioral Health Facilities

			Members With a	nd With	out Access_						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA			1 in 30 miles	18			100.0				5.3
Richmond, GA	18,940	Behavioral Health Fac	1 in 30 miles	19	996.8	18,940	100.0	0	0.0	2.7	3.4
Grand Totals	26,510	Behavioral Health Fac	1 in 30 miles	37	716.5	26,510	100.0	0	0.0	3.3	4.0

#### **Behavioral Health Facilities - Rural**

October 26, 2022

Access Analysis

Behavioral Health Facilities- Rural

Member / Provider Groups

Rural Members (EAST\_RURAL)

Behavioral Health Facilities

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Behavioral Health Fac	1 in 45 miles	4	518.3	2,073	100.0	0	0.0	7.8	8.6
Emanuel, GA	1,833	Behavioral Health Fac	1 in 45 miles	1	1,833.0	1,833	100.0	0	0.0	6.2	25.3
Glascock, GA	235	Behavioral Health Fac	1 in 45 miles	0		235	100.0	0	0.0	22.2	22.2
Greene, GA	967	Behavioral Health Fac	1 in 45 miles	0			100.0	0	0.0	31.7	32.9
Hancock, GA	416	Behavioral Health Fac	1 in 45 miles	0		416	100.0	0	0.0	21.6	23.3
Jefferson, GA	1,172	Behavioral Health Fac	1 in 45 miles	0			100.0	0	0.0	22.5	24.0
Jenkins, GA	730	Behavioral Health Fac	1 in 45 miles	1	730.0		100.0	0	0.0	4.7	22.0
Lincoln, GA	426	Behavioral Health Fac	1 in 45 miles	0		426	100.0	0	0.0	22.1	22.5
McDuffie, GA	2,363	Behavioral Health Fac	1 in 45 miles	2	1,181.5	2,363	100.0	0	0.0	3.9	3.9
Putnam, GA	1,191	Behavioral Health Fac	1 in 45 miles	0		1,191	100.0	0	0.0	13.7	21.2
Taliaferro, GA	100	Behavioral Health Fac	1 in 45 miles	0		100	100.0	0	0.0	27.6	27.7
Warren, GA	529	Behavioral Health Fac	1 in 45 miles	0		529	100.0	0	0.0	13.8	13.8
Washington, GA	1,090	Behavioral Health Fac	1 in 45 miles	0		1,090	100.0	0	0.0	28.0	30.3
Wilkes, GA	796	Behavioral Health Fac	1 in 45 miles	0		796	100.0	0	0.0	27.8	31.2
Grand Totals	13,921	Behavioral Health Fac	1 in 45 miles	8	1,740.1	13,921	100.0	0	0.0	14.3	19.2
		•	•	•							

#### **Dental - Urban**

October 26, 2022

Access Analysis

Dental- Urban

Member / Provider Groups
Urban Members (EAST\_URBAN)
Dental

			Members With a	nd With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA		Dental	1 in 30 miles	3			100.0		0.0	4.3	5.6
Richmond, GA	18,940	Dental	1 in 30 miles	39	485.6	18,940	100.0	0	0.0	2.3	3.0
Grand Totals	26,510	Dental	1 in 30 miles	42	631.2	26,510	100.0	0	0.0	2.8	3.7
© 2022 Quest Analytics, LLC											

#### **Dental - Rural**

October 26, 2022

Access Analysis Dental- Rural

Member / Provider Groups Rural Members (EAST\_RURAL) Dental

			Members With a	nd With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Dental	1 in 45 miles	1	2,073.0	2,073	100.0	0	0.0	7.6	19.1
Emanuel, GA	1,833	Dental	1 in 45 miles	5	366.6	1,833		0	0.0	6.0	6.2
Glascock, GA	235	Dental	1 in 45 miles	0			100.0	0	0.0	14.4	19.0
Greene, GA	967	Dental	1 in 45 miles	14	69.1		100.0	0	0.0	5.9	
Hancock, GA	416	Dental	1 in 45 miles	1	416.0	416	100.0	0	0.0	5.6	21.2
Jefferson, GA		Dental	1 in 45 miles	1	1,172.0	1,172		0	0.0	10.8	
Jenkins, GA	730	Dental	1 in 45 miles	1	730.0		100.0	0	0.0	4.9	22.3
Lincoln, GA	426	Dental	1 in 45 miles	0			100.0	0	0.0	18.8	19.4
McDuffie, GA	2,363	Dental	1 in 45 miles	1	2,363.0	2,363		0	0.0	3.9	19.6
Putnam, GA	1,191	Dental	1 in 45 miles	3	397.0	1,191		0	0.0	4.6	
Taliaferro, GA	100	Dental	1 in 45 miles	0			100.0	0	0.0	15.1	15.5
Warren, GA	529	Dental	1 in 45 miles	0			100.0	0	0.0	11.9	23.1
Washington, GA	1,090	Dental	1 in 45 miles	2	545.0	1,090	100.0	0	0.0	4.9	6.1
Wilkes, GA	796	Dental	1 in 45 miles	2	398.0	796	100.0	0	0.0	5.2	5.6
Grand Totals	13,921	Dental	1 in 45 miles	31	449.1	13,921	100.0	0	0.0	6.8	14.2
			1								

# **Dental Subspeciality - Urban**

October 26, 2022

Access Analysis

Dental Subspeciality- Urban

Member / Provider Groups

Urban Members (EAST\_URBAN)

Dental Subspecialty

			Members With	and With	out Access						
	Member	P	rovider	Counts	Ratio Members			Without Ac	cess	Average	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA	7,570	Dental Subspecialty	1 in 30 miles	0		7,570	100.0	0			
Richmond, GA	18,940	Dental Subspecialty	1 in 30 miles	17	1,114.1	18,940	100.0	0	0.0	3.6	3.6
								_			
Grand Totals	26,510	Dental Subspecialty	1 in 30 miles	17	1,559.4	26,510	100.0	0	0.0	4.7	4.7
© 2022 Ouget Analytics LLC	L				<u> </u>		<u> </u>				

# **Dental Subspeciality - Rural**

October 26, 2022

Access Analysis
Dental Subspeciality- Rural
Member / Provider Groups
Rural Members (EAST\_RURAL)
Dental Subspecialty

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Dental Subspecialty	1 in 45 miles	0		2,067	99.7		0.3	22.8	22.8
Emanuel, GA		Dental Subspecialty	1 in 45 miles	2	916.5	1,833	100.0		0.0	6.6	6.6
Glascock, GA		Dental Subspecialty	1 in 45 miles	0		235	100.0		0.0	38.1	38.3
Greene, GA		Dental Subspecialty	1 in 45 miles	3	322.3	967			0.0	13.6	14.0
Hancock, GA		Dental Subspecialty	1 in 45 miles	0		416		0	0.0	24.8	25.6
Jefferson, GA		Dental Subspecialty	1 in 45 miles	0		1,172	100.0		0.0	29.2	29.2
Jenkins, GA		Dental Subspecialty	1 in 45 miles	0		730	100.0	0	0.0	31.2	31.2
Lincoln, GA	426	Dental Subspecialty	1 in 45 miles	0		419	98.4		1.6	37.0	37.2
McDuffie, GA	2,363	Dental Subspecialty	1 in 45 miles	0		2,363	100.0		0.0	23.5	23.6
Putnam, GA	1,191	Dental Subspecialty	1 in 45 miles	0		1,191			0.0	15.4	15.5
Taliaferro, GA	100	Dental Subspecialty	1 in 45 miles	0		100	100.0	0	0.0	25.4	25.8
Warren, GA	529	Dental Subspecialty	1 in 45 miles	0		529	100.0	0	0.0	32.9	33.2
Washington, GA	1,090	Dental Subspecialty	1 in 45 miles	0		1,090	100.0	0	0.0	33.7	33.8
Wilkes, GA	796	Dental Subspecialty	1 in 45 miles	0		763	95.9	33	4.1	40.8	42.4
Grand Totals	13,921	Dental Subspecialty	1 in 45 miles	5	2,784.2	13,875	99.7	46	0.3	23.5	23.7
		l .		L							

### **Dialysis - Urban**

October 26, 2022

Dialysis

Access Analysis
Dialysis- Urban

Member / Provider Groups
Urban Members (EAST\_URBAN)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Ac				Average			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Columbia, GA		Dialysis	1 in 30 miles	3			100.0		0.0	5.0			
Richmond, GA	18,940	Dialysis	1 in 30 miles	9	2,104.4	18,940	100.0	0	0.0	2.7	3.5		
Grand Totals	26,510	Dialysis	1 in 30 miles	12	2,209.2	26,510	100.0	0	0.0	3.4	4.2		

### **Dialysis - Rural**

October 26, 2022

Access Analysis
Dialysis- Rural

Member / Provider Groups
Rural Members (EAST\_RURAL)
Dialysis

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Dialysis	1 in 45 miles	0		2,065	99.6	8	0.4	24.1	24.4
Emanuel, GA	1,833	Dialysis	1 in 45 miles	0			100.0	0	0.0	22.9	27.4
Glascock, GA	235	Dialysis	1 in 45 miles	0		235	100.0	0	0.0	19.2	20.2
Greene, GA	967	Dialysis	1 in 45 miles	1	967.0	967	100.0	0	0.0	11.3	31.6
Hancock, GA	416	Dialysis	1 in 45 miles	0		416	100.0	0	0.0	21.6	22.8
Jefferson, GA	1,172	Dialysis	1 in 45 miles	2	586.0	1,172	100.0	0	0.0	10.7	10.7
Jenkins, GA	730	Dialysis	1 in 45 miles	0		730	100.0	0	0.0	29.5	32.0
Lincoln, GA	426	Dialysis	1 in 45 miles	0		426	100.0	0	0.0	23.6	24.3
McDuffie, GA	2,363	Dialysis	1 in 45 miles	2	1,181.5	2,363	100.0	0	0.0	4.3	5.3
Putnam, GA	1,191	Dialysis	1 in 45 miles	0		1,191	100.0	0	0.0	16.6	21.8
Taliaferro, GA	100	Dialysis	1 in 45 miles	0		100	100.0	0	0.0	22.0	26.3
Warren, GA	529	Dialysis	1 in 45 miles	0		529	100.0	0	0.0	10.8	11.9
Washington, GA	1,090	Dialysis	1 in 45 miles	0		1,090	100.0	0	0.0	23.4	23.4
Wilkes, GA	796	Dialysis	1 in 45 miles	0			100.0	0	0.0	25.3	29.9
Grand Totals	13,921	Dialysis	1 in 45 miles	5	2,784.2	13,913	99.9	8	0.1	17.5	20.7

#### **DME** - Urban

October 26, 2022

Access Analysis DME- Urban

Member / Provider Groups
Urban Members (EAST\_URBAN)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Columbia, GA	7,570	DME	1 in 30 miles	36			100.0		0.0	2.6	2.9	
Richmond, GA	18,940	DME	1 in 30 miles	34	557.1	18,940	100.0	0	0.0	3.6	3.9	
								_				
Grand Totals	26,510	DME	1 in 30 miles	70	378.7	26,510	100.0	0	0.0	3.3	3.6	
© 2022 Quest Analytics LLC												

#### **DME - Rural**

October 26, 2022

Access Analysis DME- Rural

Member / Provider Groups
Rural Members (EAST\_RURAL)

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	DME	1 in 45 miles	26	79.7	2,073	100.0	0	0.0	5.2	8.7
Emanuel, GA	1,833	DME	1 in 45 miles	29	63.2		100.0	0	0.0	3.2	3.7
Glascock, GA	235	DME	1 in 45 miles	12	19.6	235	100.0	0	0.0	3.5	4.9
Greene, GA		DME	1 in 45 miles	32	30.2		100.0	0	0.0	2.5	3.8
Hancock, GA	416	DME	1 in 45 miles	22	18.9		100.0	0	0.0	1.9	2.7
Jefferson, GA	1,172	DME	1 in 45 miles	20	58.6		100.0	0	0.0	4.3	4.6
Jenkins, GA		DME	1 in 45 miles	25	29.2		100.0	0	0.0	9.3	10.0
Lincoln, GA		DME	1 in 45 miles	28	15.2		100.0		0.0	1.7	2.2
McDuffie, GA	2,363		1 in 45 miles	20	118.2		100.0	0	0.0	1.8	2.3
Putnam, GA	1,191		1 in 45 miles	24	49.6		100.0	0	0.0		2.1
Taliaferro, GA		DME	1 in 45 miles	19			100.0	0	0.0	1.5	2.0
Warren, GA		DME	1 in 45 miles	46	11.5		100.0	0	0.0	1.2	1.8
Washington, GA	1,090		1 in 45 miles	26			100.0	0	0.0	8.3	8.9
Wilkes, GA	796	DME	1 in 45 miles	23	34.6	796	100.0	0	0.0	3.0	3.4
Grand Totals	13,921	DME	1 in 45 miles	352	39.5	13,921	100.0	0	0.0	3.7	4.7

#### **FQHCs AND RHCs - Urban**

October 26, 2022

Access Analysis
FQHCs and RHCs- Urban
Member / Provider Groups
Urban Members (EAST\_URBAN)
FQHCs and RHCs

			Members With	and With	out Access						
	Member	F	Provider	Counts	Ratio Members	With Ac		Without Ac	cess	Average	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA		FQHCs and RHCs	1 in 30 miles	0		7,570	100.0	0			
Richmond, GA	18,940	FQHCs and RHCs	1 in 30 miles	12	1,578.3	18,940	100.0	0	0.0	3.8	4.1
Grand Totals	26,510	FQHCs and RHCs	1 in 30 miles	12	2,209.2	26,510	100.0	0	0.0	4.7	4.9
© 2022 Quest Analytics II C											

#### **FQHCs AND RHCs - Rural**

October 26, 2022

Access Analysis
FQHCs and RHCs- Rural
Member / Provider Groups
Rural Members (EAST\_RURAL)
FQHCs and RHCs

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	FQHCs and RHCs	1 in 45 miles	1	2,073.0	2,073	100.0	0	0.0	7.3	22.9
Emanuel, GA	1,833	FQHCs and RHCs	1 in 45 miles	7	261.9	1,833	100.0	0	0.0	4.0	6.1
Glascock, GA	235	FQHCs and RHCs	1 in 45 miles	1	235.0	235	100.0	0	0.0	4.2	12.9
Greene, GA	967	FQHCs and RHCs	1 in 45 miles	5	193.4		100.0	0	0.0	5.6	
Hancock, GA	416	FQHCs and RHCs	1 in 45 miles	1	416.0	416	100.0	0	0.0	5.3	18.0
Jefferson, GA	1,172	FQHCs and RHCs	1 in 45 miles	3	390.7		100.0	0	0.0	5.4	10.4
Jenkins, GA	730	FQHCs and RHCs	1 in 45 miles	0		730	100.0	0	0.0	18.4	22.0
Lincoln, GA	426	FQHCs and RHCs	1 in 45 miles	0		426	100.0	0	0.0	32.2	32.2
McDuffie, GA	2,363	FQHCs and RHCs	1 in 45 miles	0		2,363	100.0	0	0.0	13.9	14.0
Putnam, GA	1,191	FQHCs and RHCs	1 in 45 miles	0		1,191	100.0	0	0.0	12.8	15.2
Taliaferro, GA	100	FQHCs and RHCs	1 in 45 miles	1	100.0	100	100.0	0	0.0	4.1	17.2
Warren, GA	529	FQHCs and RHCs	1 in 45 miles	2	264.5	529	100.0	0	0.0	3.7	3.8
Washington, GA	1,090	FQHCs and RHCs	1 in 45 miles	3	363.3	1,090	100.0	0	0.0	4.1	5.8
Wilkes, GA	796	FQHCs and RHCs	1 in 45 miles	0		796	100.0	0	0.0	20.1	23.9
Grand Totals	13,921	FQHCs and RHCs	1 in 45 miles	24	580.0	13,921	100.0	0	0.0	9.7	14.2
	L	ļ.	<u> </u>	L							

# **Home Health Infusion Services - Urban**

October 26, 2022

Access Analysis

Home Health and Infusion Services-

Member / Provider Groups
Urban Members (EAST\_URBAN)
Home Health and Infusion Services

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Columbia, GA			1 in 30 miles	12			100.0		0.0	3.1	3.2	
Richmond, GA	18,940	Home Health and Infu	1 in 30 miles	24	789.2	18,940	100.0	0	0.0	3.4	4.6	
Grand Totals	26,510	Home Health and Infu	1 in 30 miles	36	736.4	26,510	100.0	0	0.0	3.3	4.2	
@ 2022 Quest Analytics 11 C												

56

#### **Home Health Infusion Services - Rural**

October 26, 2022

Access Analysis

Home Health and Infusion Services-

Member / Provider Groups
Rural Members (EAST\_RURAL)
Home Health and Infusion Services

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Home Health and Infu	1 in 45 miles	8	259.1	2,073	100.0	0	0.0	8.7	10.0
Emanuel, GA	1,833	Home Health and Infu	1 in 45 miles	11	166.6	1,833	100.0	0	0.0	4.1	4.8
Glascock, GA	235	Home Health and Infu	1 in 45 miles	4	58.8	235	100.0	0	0.0	5.3	6.3
Greene, GA	967	Home Health and Infu	1 in 45 miles	14			100.0	0	0.0	3.0	5.9
Hancock, GA	416	Home Health and Infu	1 in 45 miles	14	29.7	416	100.0	0	0.0	2.4	4.0
Jefferson, GA	1,172	Home Health and Infu	1 in 45 miles	8	146.5		100.0	0	0.0	8.6	10.1
Jenkins, GA	730	Home Health and Infu	1 in 45 miles	11	66.4	730	100.0	0	0.0	10.5	10.9
Lincoln, GA	426	Home Health and Infu	1 in 45 miles	11	38.7	426	100.0	0	0.0	2.2	3.9
McDuffie, GA	2,363	Home Health and Infu	1 in 45 miles	11	214.8	2,363	100.0	0	0.0	2.5	3.3
Putnam, GA	1,191	Home Health and Infu	1 in 45 miles	13	91.6	1,191	100.0	0	0.0	2.0	3.1
Taliaferro, GA	100	Home Health and Infu	1 in 45 miles	10	10.0	100	100.0	0	0.0	1.8	3.2
Warren, GA	529	Home Health and Infu	1 in 45 miles	20	26.5	529	100.0	0	0.0	1.8	2.3
Washington, GA	1,090	Home Health and Infu	1 in 45 miles	16	68.1	1,090	100.0	0	0.0	4.8	8.6
Wilkes, GA	796	Home Health and Infu	1 in 45 miles	11	72.4	796	100.0	0	0.0	8.9	10.6
Grand Totals	13,921	Home Health and Infu	1 in 45 miles	162	85.9	13,921	100.0	0	0.0	5.1	6.5
		l	l	L							

### **Hospitals - Urban**

October 26, 2022

Access Analysis Hospitals- Urban

Member / Provider Groups
Urban Members (EAST\_URBAN)
Hospitals

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Columbia, GA	7,570	Hospitals	1 in 30 miles	0			100.0		0.0	7.3			
Richmond, GA	18,940	Hospitals	1 in 30 miles	6	3,156.7	18,940	100.0	0	0.0	4.0	4.6		
0 17.1	00.540		4: 00 "		4 440 0	00 = 40	400.0	•	0.0	4.0			
Grand Totals	26,510	Hospitals	1 in 30 miles	6	4,418.3	26,510	100.0	0	0.0	4.9	6.6		
© 2022 Queet Analytics III C													

### **Hospitals -Rural**

October 26, 2022

Access Analysis Hospitals- Rural Member / Provider Groups Rural Members (EAST\_RURAL) Hospitals

			Members With	and With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Hospitals	1 in 45 miles	1	2,073.0	2,073	100.0	0	0.0	8.0	21.2
Emanuel, GA	1,833	Hospitals	1 in 45 miles	1	1,833.0	1,833	100.0	0	0.0	6.1	23.2
Glascock, GA	235	Hospitals	1 in 45 miles	0		235	100.0	0	0.0	20.9	25.0
Greene, GA	967	Hospitals	1 in 45 miles	1	967.0	967	100.0	0	0.0	12.3	20.2
Hancock, GA	416	Hospitals	1 in 45 miles	0		416	100.0	0	0.0	23.3	26.4
Jefferson, GA	1,172	Hospitals	1 in 45 miles	1	1,172.0	1,172	100.0	0	0.0	10.7	23.9
Jenkins, GA	730	Hospitals	1 in 45 miles	1	730.0	730	100.0	0	0.0	4.7	19.2
Lincoln, GA	426	Hospitals	1 in 45 miles	0		426	100.0	0	0.0	19.1	19.3
McDuffie, GA	2,363	Hospitals	1 in 45 miles	1	2,363.0	2,363	100.0	0	0.0	7.4	23.2
Putnam, GA	1,191	Hospitals	1 in 45 miles	1	1,191.0	1,191	100.0	0	0.0	5.6	16.6
Taliaferro, GA	100	Hospitals	1 in 45 miles	0		100	100.0	0	0.0	17.3	18.5
Warren, GA	529	Hospitals	1 in 45 miles	0		529	100.0	0	0.0	14.9	24.0
Washington, GA	1,090	Hospitals	1 in 45 miles	1	1,090.0	1,090	100.0	0	0.0	5.9	24.2
Wilkes, GA	796	Hospitals	1 in 45 miles	2	398.0	796	100.0	0	0.0	5.4	5.4
Grand Totals	13,921	Hospitals	1 in 45 miles	10	1,392.1	13,921	100.0	0	0.0	8.8	21.0

### **Outpatient Laboratory Services - Urban**

October 26, 2022

Access Analysis
Outpatient Laboratory Services- Urban
Member / Provider Groups
Urban Members (EAST\_URBAN)
Outpatient Laboratory Services

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Columbia, GA	7,570	Outpatient Laboratory	1 in 30 miles	5			100.0		0.0	5.2	5.6	
Richmond, GA	18,940	Outpatient Laboratory	1 in 30 miles	37	511.9	18,940	100.0	0	0.0	4.9	5.1	
Grand Totals	26,510	Outpatient Laboratory	1 in 30 miles	42	631.2	26,510	100.0	0	0.0	5.0	5.3	
	.,.	,				.,.						
© 2022 Quest Analytics III C		<u> </u>										

# **Outpatient Laboratory Services - Rural**

October 26, 2022

Access Analysis
Outpatient Laboratory Services- Rural
Member / Provider Groups
Rural Members (EAST\_RURAL)
Outpatient Laboratory Services

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Burke, GA	2,073	Outpatient Laboratory	1 in 45 miles	2	1,036.5	2,073	100.0	0	0.0	9.0	13.7		
Emanuel, GA	1,833	Outpatient Laboratory	1 in 45 miles	2	916.5	1,833	100.0	0	0.0	4.7	7.3		
Glascock, GA	235	Outpatient Laboratory	1 in 45 miles	1	235.0	235	100.0	0	0.0	6.7	8.0		
Greene, GA	967	Outpatient Laboratory	1 in 45 miles	3	322.3		100.0	0	0.0	3.6			
Hancock, GA	416	Outpatient Laboratory	1 in 45 miles	2	208.0	416	100.0	0	0.0	4.1	12.2		
Jefferson, GA	1,172	Outpatient Laboratory	1 in 45 miles	1	1,172.0		100.0	0	0.0	10.6	14.6		
Jenkins, GA	730	Outpatient Laboratory	1 in 45 miles	2	365.0		100.0	0	0.0	10.9	11.2		
Lincoln, GA	426	Outpatient Laboratory	1 in 45 miles	0		426	100.0	0	0.0	15.0	18.9		
McDuffie, GA	2,363	Outpatient Laboratory	1 in 45 miles	2	1,181.5	2,363	100.0	0	0.0	5.8	7.9		
Putnam, GA	1,191	Outpatient Laboratory	1 in 45 miles	0		1,191	100.0	0	0.0	11.8	15.6		
Taliaferro, GA	100	Outpatient Laboratory	1 in 45 miles	1	100.0	100	100.0	0	0.0	2.8	8.2		
Warren, GA	529	Outpatient Laboratory	1 in 45 miles	4	132.3	529	100.0	0	0.0	2.4	3.4		
Washington, GA	1,090	Outpatient Laboratory	1 in 45 miles	4	272.5	1,090	100.0	0	0.0	4.5	9.0		
Wilkes, GA	796	Outpatient Laboratory	1 in 45 miles	3	265.3	796	100.0	0	0.0	9.0	12.6		
Grand Totals	13,921	Outpatient Laboratory	1 in 45 miles	27	515.6	13,921	100.0	0	0.0	7.3	10.7		

### **Obstetrics/Gynecology -Urban**

October 26, 2022

(EAST\_URBAN)
Obstetrics/Gynecology

Access Analysis
Obstetrics/Gynecology- Urban
Member / Provider Groups
Female Urban Members

Members With and Without Access												
	Member		ovider	Counts	Ratio Members	With Ac		Without Ac		Average		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Columbia, GA Richmond, GA	2,364 6,315	Obstetrics/Gynecology Obstetrics/Gynecology	2 in 30 miles 2 in 30 miles	62 204		2,364 6,315	100.0 100.0	0			3.4 3.6	
Grand Totals	8,679	Obstetrics/Gynecology	2 in 30 miles	266	32.6	8,679	100.0	0	0.0	2.8	3.5	
© 2022 Quest Analytics, LLC.												

# **Obstetrics/Gynecology -Rural**

October 26, 2022

Access Analysis
Obstetrics/Gynecology- Rural
Member / Provider Groups
Female Rural Members
(EAST\_RURAL)
Obstetrics/Gynecology

	Members With and Without Access												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Burke, GA	656	Obstetrics/Gynecology	2 in 45 miles	2	328.0	656	100.0	0	0.0	7.7	8.2		
Emanuel, GA	582	Obstetrics/Gynecology	2 in 45 miles	5	116.4	582	100.0	0	0.0	4.9	5.5		
Glascock, GA		Obstetrics/Gynecology	2 in 45 miles	1	73.0		100.0	0	0.0	3.7	12.8		
Greene, GA		Obstetrics/Gynecology	2 in 45 miles	14	21.5		100.0	0	0.0	6.1	10.5		
Hancock, GA		Obstetrics/Gynecology	2 in 45 miles	1	143.0		100.0	0	0.0	5.2	18.6		
Jefferson, GA	380	Obstetrics/Gynecology	2 in 45 miles	4	95.0			0	0.0	4.9	9.4		
Jenkins, GA		Obstetrics/Gynecology	2 in 45 miles	1	224.0		100.0	0	0.0	4.8	19.7		
Lincoln, GA	141	Obstetrics/Gynecology	2 in 45 miles	0		141	100.0	0	0.0	17.8	18.4		
McDuffie, GA	811	Obstetrics/Gynecology	2 in 45 miles	2	405.5	811	100.0	0	0.0	4.0	4.6		
Putnam, GA	362	Obstetrics/Gynecology	2 in 45 miles	4	90.5	362	100.0	0	0.0	4.8	5.1		
Taliaferro, GA	40	Obstetrics/Gynecology	2 in 45 miles	1	40.0	40	100.0	0	0.0	6.3	15.6		
Warren, GA	194	Obstetrics/Gynecology	2 in 45 miles	1	194.0	194	100.0	0	0.0	3.6	11.0		
Washington, GA		Obstetrics/Gynecology	2 in 45 miles	15	23.7	356	100.0	0	0.0	3.5	3.9		
Wilkes, GA		Obstetrics/Gynecology	2 in 45 miles	7	35.6	249	100.0	0	0.0	4.4	4.9		
Grand Totals	4,512	Obstetrics/Gynecology	2 in 45 miles	58	77.8	4,512	100.0	0	0.0	5.4	8.2		
	L	ļ.	<u> </u>	L									

### Pediatric Allergy/Immunology - Urban

October 26, 2022

Access Analysis
Pediatric Allergy/Immunology- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)
Pediatric\_Allergy/Immunology

Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac			cess	Average		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Columbia, GA		Pediatric_Allergy/Imm	1 in 30 miles	5			100.0		0.0	5.4	5.8	
Richmond, GA	13,944	Pediatric_Allergy/Imm	1 in 30 miles	23	606.3	13,944	100.0	0	0.0	4.4	5.4	
Grand Totals	19,673	Pediatric_Allergy/Imm	1 in 30 miles	28	702.6	19,673	100.0	0	0.0	4.7	5.5	

# Pediatric Allergy/Immunology -Rural

October 26, 2022

Access Analysis
Pediatric Allergy/Immunology- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_Allergy/Immunology

Emanuel, GA       1,397       Pediatric_Allergy/lmm       1 in 45 miles       2       698.5       1,397       100.0       0       0.0       5.4       7.5         Glascock, GA       177       Pediatric_Allergy/lmm       1 in 45 miles       1       177.0       177       100.0       0       0.0       4.4       13         Greene, GA       750       Pediatric_Allergy/lmm       1 in 45 miles       0        750       100.0       0       0.0       4.4       13         Hancock, GA       303       Pediatric_Allergy/lmm       1 in 45 miles       1       303.0       303       100.0       0       0.0       5.3       18         Jefferson, GA       874       Pediatric_Allergy/lmm       1 in 45 miles       2       437.0       874       100.0       0       0.0       5.3       18         Jenkins, GA       559       Pediatric_Allergy/lmm       1 in 45 miles       0        559       100.0       0       0.0       19.6       2°         Lincoln, GA       311       Pediatric_Allergy/lmm       1 in 45 miles       0        311       100.0       0       0.0       17.6       18         McDuffie, GA		Members With and Without Access												
Burke, GA		Member	Pro	ovider	Counts	Patio Members	With Ac	cess	Without Ac	cess	Average	Distance		
Emanuel, GA       1,397 Glascock, GA       1,397 Pediatric_Allergy/lmm       1 in 45 miles       2 698.5       1,397 100.0       0 0.0       5.4       3.6         Glascock, GA       177 Pediatric_Allergy/lmm       1 in 45 miles       1 177.0       177 100.0       0 0.0       4.4       13         Greene, GA       750 Pediatric_Allergy/lmm       1 in 45 miles       0 750 100.0       0 0.0       16.7       24         Hancock, GA       303 Pediatric_Allergy/lmm       1 in 45 miles       1 303.0       303 100.0       0 0.0       5.3       18         Jefferson, GA       874 Pediatric_Allergy/lmm       1 in 45 miles       2 437.0       874 100.0       0 0.0       5.0       15         Jenkins, GA       559 Pediatric_Allergy/lmm       1 in 45 miles       0 559 100.0       0 0.0       19.6       22         Lincoln, GA       311 Pediatric_Allergy/lmm       1 in 45 miles       0 311 100.0       0 0.0       17.6       18         McDuffie, GA       1,796 Pediatric_Allergy/lmm       1 in 45 miles       0 1,796 100.0       0 0.0       13.8       19         Putnam, GA       915 Pediatric_Allergy/lmm       1 in 45 miles       1 in 45 miles       0 1,796 100.0       0 0.0       0 0.0       16.0       18	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Glascock, GA 177   Pediatric_Allergy/lmm   1 in 45 miles   1   177.0   177   100.0   0   0.0   4.4   13   13   13   13   14   14   15   14   15   15   15   15	Burke, GA	1,609	Pediatric_Allergy/Imm	1 in 45 miles	2	804.5	1,609	100.0	0	0.0	7.6	8.2		
Greene, GA         750         Pediatric_Allergy/Imm         1 in 45 miles         0	Emanuel, GA	1,397	Pediatric_Allergy/Imm	1 in 45 miles	2	698.5						7.0		
Hancock, GA       303       Pediatric_Allergy/lmm       1 in 45 miles       1 303.0       303 100.0       0 0.0       5.3       18         Jefferson, GA       874       Pediatric_Allergy/lmm       1 in 45 miles       2 437.0       874 100.0       0 0.0       5.0       18         Jenkins, GA       559       Pediatric_Allergy/lmm       1 in 45 miles       0 559 100.0       0 0.0       19.6       27         Lincoln, GA       311       Pediatric_Allergy/lmm       1 in 45 miles       0 311 100.0       0 0.0       17.6       18         McDuffie, GA       1,796       Pediatric_Allergy/lmm       1 in 45 miles       0 1,796 100.0       0 0.0       0 0.0       13.8       19         Putnam, GA       915       Pediatric_Allergy/lmm       1 in 45 miles       0 915 100.0       0 0.0       0 0.0       16.0       18         Taliaferro, GA       71       Pediatric_Allergy/lmm       1 in 45 miles       1 71.0       71 100.0       0 0.0       0.0       6.2       16         Washington, GA       814       Pediatric_Allergy/lmm       1 in 45 miles       1 391.0       391 100.0       0 0.0       0.0       3.4       3         Wilkes, GA       617       Pediatric_Allergy/lmm </td <td>Glascock, GA</td> <td>177</td> <td>Pediatric_Allergy/Imm</td> <td>1 in 45 miles</td> <td>1</td> <td>177.0</td> <td></td> <td></td> <td>0</td> <td>0.0</td> <td>4.4</td> <td>13.0</td>	Glascock, GA	177	Pediatric_Allergy/Imm	1 in 45 miles	1	177.0			0	0.0	4.4	13.0		
Jefferson, GA       874       Pediatric_Allergy/lmm       1 in 45 miles       2       437.0       874       100.0       0       0.0       5.0       15         Jenkins, GA       559       Pediatric_Allergy/lmm       1 in 45 miles       0        559       100.0       0       0.0       19.6       2         Lincoln, GA       311       Pediatric_Allergy/lmm       1 in 45 miles       0        311       100.0       0       0.0       17.6       18         McDuffie, GA       1,796       Pediatric_Allergy/lmm       1 in 45 miles       0        1,796       100.0       0       0.0       13.8       19         Putnam, GA       915       Pediatric_Allergy/lmm       1 in 45 miles       0        915       100.0       0       0.0       16.0       18         Taliaferro, GA       71       Pediatric_Allergy/lmm       1 in 45 miles       1       71.0       71       100.0       0       0.0       6.2       16         Washington, GA       814       Pediatric_Allergy/lmm       1 in 45 miles       1       391.0       391       100.0       0       0.0       3.4       3         Wilkes, GA	Greene, GA	750	Pediatric_Allergy/Imm	1 in 45 miles	0							24.7		
Jenkins, GA       559       Pediatric_Allergy/lmm       1 in 45 miles       0        559       100.0       0       0.0       19.6       2         Lincoln, GA       311       Pediatric_Allergy/lmm       1 in 45 miles       0        311       100.0       0       0.0       17.6       18         McDuffie, GA       1,796       Pediatric_Allergy/lmm       1 in 45 miles       0        1,796       100.0       0       0.0       13.8       19         Putnam, GA       915       Pediatric_Allergy/lmm       1 in 45 miles       0        915       100.0       0       0.0       16.0       18         Taliaferro, GA       71       Pediatric_Allergy/lmm       1 in 45 miles       1       71.0       71       100.0       0       0.0       6.2       16         Warren, GA       391       Pediatric_Allergy/lmm       1 in 45 miles       1       391.0       391       100.0       0       0.0       3.9       15         Washington, GA       814       Pediatric_Allergy/lmm       1 in 45 miles       10       81.4       814       100.0       0       0.0       3.4       3         Wilkes, GA				1 in 45 miles	1	303.0			0		5.3	18.9		
Lincoln, GA       311       Pediatric_Allergy/lmm       1 in 45 miles       0        311       100.0       0       0.0       17.6       18         McDuffie, GA       1,796       Pediatric_Allergy/lmm       1 in 45 miles       0        1,796       100.0       0       0.0       13.8       19         Putnam, GA       915       Pediatric_Allergy/lmm       1 in 45 miles       0        915       100.0       0       0.0       16.0       18         Taliaferro, GA       71       Pediatric_Allergy/lmm       1 in 45 miles       1       71.0       71       100.0       0       0.0       6.2       16         Washington, GA       814       Pediatric_Allergy/lmm       1 in 45 miles       1       391.0       391       100.0       0       0.0       3.9       15         Wilkes, GA       617       Pediatric_Allergy/lmm       1 in 45 miles       1       81.4       81.4       100.0       0       0.0       3.4       33         Wilkes, GA       617       Pediatric_Allergy/lmm       1 in 45 miles       6       102.8       617       100.0       0       0.0       0.0       4.7       4					2	437.0						15.1		
McDuffie, GA       1,796       Pediatric_Allergy/lmm       1 in 45 miles       0        1,796       100.0       0       0.0       13.8       19         Putnam, GA       915       Pediatric_Allergy/lmm       1 in 45 miles       0        915       100.0       0       0.0       16.0       18         Taliaferro, GA       71       Pediatric_Allergy/lmm       1 in 45 miles       1       71.0       71       100.0       0       0.0       6.2       16         Warren, GA       391       Pediatric_Allergy/lmm       1 in 45 miles       1       391.0       391       100.0       0       0.0       3.9       15         Washington, GA       814       Pediatric_Allergy/lmm       1 in 45 miles       10       81.4       814       100.0       0       0.0       3.4       33         Wilkes, GA       617       Pediatric_Allergy/lmm       1 in 45 miles       6       102.8       617       100.0       0       0.0       4.7       5					0				0			21.5		
Putnam, GA       915       Pediatric_Allergy/lmm       1 in 45 miles       0        915       100.0       0       0.0       16.0       18         Taliaferro, GA       71       Pediatric_Allergy/lmm       1 in 45 miles       1       71.0       71       100.0       0       0.0       6.2       16         Warren, GA       391       Pediatric_Allergy/lmm       1 in 45 miles       1       391.0       391       100.0       0       0.0       3.9       15         Washington, GA       814       Pediatric_Allergy/lmm       1 in 45 miles       10       81.4       814       100.0       0       0.0       3.4       33         Wilkes, GA       617       Pediatric_Allergy/lmm       1 in 45 miles       6       102.8       617       100.0       0       0.0       4.7       5	Lincoln, GA	311	Pediatric_Allergy/Imm	1 in 45 miles	0		311	100.0			17.6	18.2		
Taliaferro, GA       71       Pediatric_Allergy/lmm       1 in 45 miles       1       71.0       71       100.0       0       0.0       6.2       16         Warren, GA       391       Pediatric_Allergy/lmm       1 in 45 miles       1       391.0       391       100.0       0       0.0       3.9       15         Washington, GA       814       Pediatric_Allergy/lmm       1 in 45 miles       10       81.4       814       100.0       0       0.0       3.4       3         Wilkes, GA       617       Pediatric_Allergy/lmm       1 in 45 miles       6       102.8       617       100.0       0       0.0       4.7       5	McDuffie, GA	1,796	Pediatric_Allergy/Imm	1 in 45 miles	0						13.8	19.7		
Warren, GA       391       Pediatric_Allergy/lmm       1 in 45 miles       1       391.0       391       100.0       0       0.0       3.9       15         Washington, GA       814       Pediatric_Allergy/lmm       1 in 45 miles       10       81.4       814       100.0       0       0.0       3.4       3         Wilkes, GA       617       Pediatric_Allergy/lmm       1 in 45 miles       6       102.8       617       100.0       0       0.0       4.7       5	Putnam, GA	915	Pediatric_Allergy/Imm	1 in 45 miles	0					0.0		18.7		
Washington, GA       814       Pediatric_Allergy/Imm       1 in 45 miles       10       81.4       814       100.0       0       0.0       3.4       3.4         Wilkes, GA       617       Pediatric_Allergy/Imm       1 in 45 miles       6       102.8       617       100.0       0       0.0       4.7       5	Taliaferro, GA	71	Pediatric_Allergy/Imm	1 in 45 miles	1	71.0	71	100.0	0	0.0	6.2	16.7		
Wilkes, GA 617 Pediatric_Allergy/Imm 1 in 45 miles 6 102.8 617 100.0 0 0.0 4.7	Warren, GA	391	Pediatric_Allergy/Imm	1 in 45 miles	1	391.0						15.1		
	Washington, GA	814	Pediatric_Allergy/Imm	1 in 45 miles	10	81.4	814	100.0	0	0.0	3.4	3.9		
Grand Totals 10,584 Pediatric_Allergy/lmm 1 in 45 miles 26 407.1 10,584 100.0 0 0.0 9.7 11:	Wilkes, GA	617	Pediatric_Allergy/Imm	1 in 45 miles	6	102.8	617	100.0	0	0.0	4.7	5.2		
Grand Totals 10,584 Pediatric_Allergy/Imm 1 in 45 miles 26 407.1 10,584 100.0 0 0.0 9.7 1:														
	Grand Totals	10,584	Pediatric_Allergy/Imm	1 in 45 miles	26	407.1	10,584	100.0	0	0.0	9.7	13.8		

# **Pediatric Cardiology - Urban**

October 26, 2022

Access Analysis

Pediatric Cardiology- Urban Member / Provider Groups Pediatric Urban Members (EAST\_URBAN) Pediatric\_Cardiology

Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Columbia, GA	5,729	Pediatric_Cardiology	1 in 30 miles	49			100.0		0.0	3.0	3.5		
Richmond, GA	13,944	Pediatric_Cardiology	1 in 30 miles	152	91.7	13,944	100.0	0	0.0	3.3	4.7		
Grand Totals	19,673	Pediatric_Cardiology	1 in 30 miles	201	97.9	19,673	100.0	0	0.0	3.2	4.4		
© 2022 Quest Analytics II C													

# **Pediatric Cardiology - Rural**

October 26, 2022

Access Analysis
Pediatric Cardiology- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_Cardiology

	Members With and Without Access  Member Provider Counts Patic Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Burke, GA	1,609	Pediatric_Cardiology	1 in 45 miles	30	53.6	1,609	100.0	0	0.0	5.9	7.6		
Emanuel, GA	1,397	Pediatric_Cardiology	1 in 45 miles	7	199.6	1,397	100.0	0	0.0	4.7	5.8		
Glascock, GA	177	Pediatric_Cardiology	1 in 45 miles	1	177.0		100.0	0	0.0	3.8	8.6		
Greene, GA	750	Pediatric_Cardiology	1 in 45 miles	19			100.0	0	0.0	6.5			
Hancock, GA	303	Pediatric_Cardiology	1 in 45 miles	2	151.5		100.0	0	0.0	5.0	13.3		
Jefferson, GA	874	Pediatric_Cardiology	1 in 45 miles	5	174.8			0	0.0	4.6	6.5		
Jenkins, GA		Pediatric_Cardiology	1 in 45 miles	1	559.0		100.0	0	0.0	12.1	18.6		
Lincoln, GA	311	Pediatric_Cardiology	1 in 45 miles	1	311.0	311	100.0	0	0.0	6.2	12.1		
McDuffie, GA	1,796	Pediatric_Cardiology	1 in 45 miles	6	299.3	1,796	100.0	0	0.0	3.1	3.9		
Putnam, GA	915	Pediatric_Cardiology	1 in 45 miles	25	36.6	915	100.0	0	0.0	3.2	4.1		
Taliaferro, GA	71	Pediatric_Cardiology	1 in 45 miles	2	35.5	71	100.0	0	0.0	5.6	6.8		
Warren, GA	391	Pediatric_Cardiology	1 in 45 miles	3	130.3	391	100.0	0	0.0	3.1	6.3		
Washington, GA	814	Pediatric_Cardiology	1 in 45 miles	38	21.4	814	100.0	0	0.0	3.3	3.9		
Wilkes, GA	617	Pediatric_Cardiology	1 in 45 miles	23	26.8	617	100.0	0	0.0	3.9	4.8		
Grand Totals	10,584	Pediatric_Cardiology	1 in 45 miles	163	64.9	10,584	100.0	0	0.0	4.8	6.8		
			!	l									

# **Pediatric Dermatology - Urban**

October 26, 2022

Access Analysis
Pediatric Dermatology- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)

Pediatric\_Dermatology

Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Columbia, GA		Pediatric_Dermatology	1 in 30 miles	3			100.0		0.0	5.4	6.0	
Richmond, GA	13,944	Pediatric_Dermatology	1 in 30 miles	29	480.8	13,944	100.0	0	0.0	4.1	5.3	
Grand Totals	19,673	Pediatric_Dermatology	1 in 30 miles	32	614.8	19,673	100.0	0	0.0	4.5	5.5	
@ 2022 Quest Analytics III C												

# **Pediatric Dermatology - Rural**

October 26, 2022

Access Analysis
Pediatric Dermatology- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_Dermatology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Burke, GA	1,609	Pediatric_Dermatology	1 in 45 miles	0		1,606	99.8	3	0.2	27.2	29.0		
Emanuel, GA	1,397	Pediatric_Dermatology	1 in 45 miles	0		1,397	100.0	0	0.0	27.5	33.6		
Glascock, GA		Pediatric_Dermatology	1 in 45 miles	0		177	100.0	0	0.0	24.6	37.3		
Greene, GA	750	Pediatric_Dermatology	1 in 45 miles	0			100.0	0	0.0	30.1	33.0		
Hancock, GA	303	Pediatric_Dermatology	1 in 45 miles	0		303	100.0	0	0.0	23.0	23.6		
Jefferson, GA	874	Pediatric_Dermatology	1 in 45 miles	0		767	87.8	107	12.2	32.5	38.2		
Jenkins, GA		Pediatric_Dermatology	1 in 45 miles	0			100.0	0	0.0	30.2	32.1		
Lincoln, GA	311	Pediatric_Dermatology	1 in 45 miles	0		311	100.0	0	0.0	19.6	32.0		
McDuffie, GA	1,796	Pediatric_Dermatology	1 in 45 miles	1	1,796.0	1,796	100.0	0	0.0	6.7	22.3		
Putnam, GA	915	Pediatric_Dermatology	1 in 45 miles	0		915	100.0	0	0.0	21.8	21.8		
Taliaferro, GA	71	Pediatric_Dermatology	1 in 45 miles	0		71	100.0	0	0.0	24.3	41.6		
Warren, GA	391	Pediatric_Dermatology	1 in 45 miles	0		391	100.0	0	0.0	16.3	34.0		
Washington, GA	814	Pediatric_Dermatology	1 in 45 miles	0		814	100.0	0	0.0	28.8	29.1		
Wilkes, GA	617	Pediatric_Dermatology	1 in 45 miles	0		617	100.0	0	0.0	27.4	38.8		
Grand Totals	10,584	Pediatric_Dermatology	1 in 45 miles	1	10,584.0	10,474	99.0	110	1.0	23.4	30.0		
	l		l .	l									

# **Pediatric Endocrinology - Urban**

October 26, 2022

Access Analysis
Pediatric Endocrinology- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)
Pediatrio\_Endocrinology

Richmond, GA         13,944         Podiatric_Endocrinology         1 in 30 miles         31         449.8         13,944         100.0         0         0.0         3.1         3.8           Grand Totals         19,673         Podiatric_Endocrinology         1 in 30 miles         40         491.8         19,673         100.0         0         0.0         3.5         4.3	Members With and Without Access												
County		Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
Richmond, GA 13,944 Pediatric_Endocrinology 1 in 30 miles 31 449.8 13,944 100.0 0 0.0 3.1 3.8 Grand Totals 19,673 Pediatric_Endocrinology 1 in 30 miles 40 491.8 19,673 100.0 0 0.0 3.5 4.3	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Grand Totals 19,673 Pediatric_Endocrinology 1 in 30 miles 40 491.8 19,673 100.0 0 0.0 3.5 4.3	Columbia, GA	5,729	Pediatric_Endocrinology	1 in 30 miles	9	636.6	5,729	100.0	0	0.0		5.4	
	Richmond, GA	13,944	Pediatric_Endocrinology	1 in 30 miles	31	449.8	13,944	100.0	0	0.0	3.1	3.8	
									_				
	Grand Totals	19,673	Pediatric_Endocrinology	1 in 30 miles	40	491.8	19,673	100.0	0	0.0	3.5	4.3	
	© 2022 Quest Analytics, LLC.												

# **Pediatric Endocrinology - Rural**

October 26, 2022

Access Analysis
Pediatric Endocrinology- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_Endocrinology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Burke, GA	1,609	Pediatric_Endocrinology	1 in 45 miles	3	536.3	1,609	100.0	0	0.0	7.5	7.9	
Emanuel, GA	1,397	Pediatric_Endocrinology	1 in 45 miles	2	698.5		100.0	0	0.0	5.4	7.0	
Glascock, GA	177	Pediatric_Endocrinology	1 in 45 miles	1	177.0		100.0	0	0.0	4.4	12.9	
Greene, GA		Pediatric_Endocrinology	1 in 45 miles	0			100.0	0	0.0	16.7	24.7	
Hancock, GA		Pediatric_Endocrinology	1 in 45 miles	1	303.0	303	100.0	0	0.0	5.3	18.9	
Jefferson, GA		Pediatric_Endocrinology	1 in 45 miles	2	437.0	874		0	0.0	9.9	10.8	
Jenkins, GA		Pediatric_Endocrinology	1 in 45 miles	0			100.0	0	0.0	19.6	21.5	
Lincoln, GA		Pediatric_Endocrinology	1 in 45 miles	0			100.0	0	0.0	17.3	18.0	
McDuffie, GA		Pediatric_Endocrinology	1 in 45 miles	1	1,796.0		100.0	0	0.0	6.3	13.8	
Putnam, GA		Pediatric_Endocrinology	1 in 45 miles	0			100.0	0	0.0	16.0	18.7	
Taliaferro, GA	71	Pediatric_Endocrinology	1 in 45 miles	1	71.0	71	100.0	0	0.0	6.2	16.7	
Warren, GA	391	Pediatric_Endocrinology	1 in 45 miles	1	391.0	391	100.0	0	0.0	3.9	14.0	
Washington, GA	814	Pediatric_Endocrinology	1 in 45 miles	10	81.4	814	100.0	0	0.0	3.4	3.9	
Wilkes, GA	617	Pediatric_Endocrinology	1 in 45 miles	6	102.8	617	100.0	0	0.0	4.6	5.2	
Grand Totals	10,584	Pediatric_Endocrinology	1 in 45 miles	28	378.0	10,584	100.0	0	0.0	8.8	12.4	

#### **Pediatric ENT - Urban**

October 26, 2022

Access Analysis

Pediatric ENT- Urban

Member / Provider Groups

Pediatric Urban Members
(EAST\_URBAN)

Pediatric\_ENT

Members With and Without Access												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Columbia, GA	5,729	Pediatric_ENT	1 in 30 miles	28			100.0					
Richmond, GA	13,944	Pediatric_ENT	1 in 30 miles	57	244.6	13,944	100.0	0	0.0	4.4	5.5	
Grand Totals	19,673	Pediatric_ENT	1 in 30 miles	85	231.4	19,673	100.0	0	0.0	4.2	5.5	

#### **Pediatric ENT - Rural**

October 26, 2022

Access Analysis
Pediatric ENT- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_ENT

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	1,609	Pediatric_ENT	1 in 45 miles	3	536.3	1,609	100.0	0	0.0	5.7	8.0
Emanuel, GA	1,397	Pediatric_ENT	1 in 45 miles	3	465.7	1,397	100.0	0	0.0	5.2	
Glascock, GA	177	Pediatric_ENT	1 in 45 miles	1	177.0	177	100.0	0	0.0	4.4	13.0
Greene, GA	750	Pediatric_ENT	1 in 45 miles	6	125.0	750	100.0	0	0.0	10.5	12.8
Hancock, GA	303	Pediatric_ENT	1 in 45 miles	1	303.0	303	100.0	0	0.0	5.3	18.8
Jefferson, GA	874	Pediatric_ENT	1 in 45 miles	1	874.0	874	100.0	0	0.0	10.3	17.5
Jenkins, GA	559	Pediatric_ENT	1 in 45 miles	0		559	100.0	0	0.0	18.9	20.4
Lincoln, GA	311	Pediatric_ENT	1 in 45 miles	1	311.0	311	100.0	0	0.0	5.3	17.4
McDuffie, GA	1,796	Pediatric_ENT	1 in 45 miles	3	598.7	1,796	100.0	0	0.0	3.7	4.1
Putnam, GA	915	Pediatric_ENT	1 in 45 miles	0		915	100.0	0	0.0	12.9	14.1
Taliaferro, GA	71	Pediatric_ENT	1 in 45 miles	1	71.0	71	100.0	0	0.0	6.2	16.6
Warren, GA	391	Pediatric_ENT	1 in 45 miles	1	391.0	391	100.0	0	0.0	3.8	11.4
Washington, GA	814	Pediatric_ENT	1 in 45 miles	11	74.0	814	100.0	0	0.0	3.4	3.9
Wilkes, GA	617	Pediatric_ENT	1 in 45 miles	8	77.1	617	100.0	0	0.0	4.4	5.1
Grand Totals	10,584	Pediatric_ENT	1 in 45 miles	40	264.6	10,584	100.0	0	0.0	7.0	9.8
© 2022 Queet Analytics II C					l						

## **Pediatric Gastroenterology - Urban**

October 26, 2022

Access Analysis
Pediatric Gastroenterology- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)
Pediatric\_Gastroenterology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Columbia, GA	5,729	Pediatric_Gastroenter	1 in 30 miles	22		5,729	100.0	0	0.0				
Richmond, GA	13,944	Pediatric_Gastroenter	1 in 30 miles	53	263.1	13,944	100.0	0	0.0	4.2	5.0		
0 17.1	40.070		4: 00 "		000.0	40.070							
Grand Totals	19,673	Pediatric_Gastroenter	1 in 30 miles	75	262.3	19,673	100.0	0	0.0	4.0	5.1		
© 2022 Ouget Analytics LLC	L						Ь	I			I		

## **Pediatric Gastroenterology - Rural**

October 26, 2022

Access Analysis
Pediatric Gastroenterology- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_Gastroenterology

			Members With a	and With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	1,609	Pediatric_Gastroenter	1 in 45 miles	3	536.3	1,609	100.0	0	0.0	7.5	7.9
Emanuel, GA	1,397	Pediatric_Gastroenter	1 in 45 miles	3	465.7	1,397	100.0	0	0.0	3.9	6.8
Glascock, GA	177	Pediatric_Gastroenter	1 in 45 miles	1	177.0	177	100.0	0	0.0	4.4	12.9
Greene, GA	750	Pediatric_Gastroenter	1 in 45 miles	10	75.0	750	100.0	0	0.0	10.1	12.1
Hancock, GA	303	Pediatric_Gastroenter	1 in 45 miles	1	303.0	303	100.0	0	0.0	5.3	18.6
Jefferson, GA	874	Pediatric_Gastroenter	1 in 45 miles	2	437.0	874	100.0	0	0.0	9.9	10.8
Jenkins, GA	559	Pediatric_Gastroenter	1 in 45 miles	0		559	100.0	0	0.0	18.8	21.2
Lincoln, GA	311	Pediatric_Gastroenter	1 in 45 miles	0			100.0		0.0	17.4	18.2
McDuffie, GA	1,796	Pediatric_Gastroenter	1 in 45 miles	1	1,796.0	1,796	100.0	0	0.0	6.2	13.8
Putnam, GA	915	Pediatric_Gastroenter	1 in 45 miles	1	915.0	915	100.0	0	0.0	5.1	13.2
Taliaferro, GA	71	Pediatric_Gastroenter	1 in 45 miles	1	71.0	71	100.0	0	0.0	6.2	16.5
Warren, GA	391	Pediatric_Gastroenter	1 in 45 miles	1	391.0	391	100.0		0.0	3.9	14.0
Washington, GA	814	Pediatric_Gastroenter	1 in 45 miles	10	81.4	814	100.0	0	0.0	3.4	3.9
Wilkes, GA	617	Pediatric_Gastroenter	1 in 45 miles	6	102.8	617	100.0	0	0.0	4.6	5.2
Grand Totals	10,584	Pediatric_Gastroenter	1 in 45 miles	40	264.6	10,584	100.0	0	0.0	7.1	10.9

## **Pediatric General Surgery - Urban**

October 26, 2022

Access Analysis
Pediatric General Surgery- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)
Pediatric\_General Surgery

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Columbia, GA	5,729	Pediatric_General Sur	1 in 30 miles	57	100.5		100.0		0.0	2.6	2.8		
Richmond, GA	13,944	Pediatric_General Sur	1 in 30 miles	244	57.1	13,944	100.0	0	0.0	2.8	4.1		
Grand Totals	19,673	Pediatric_General Sur	1 in 30 miles	301	65.4	19,673	100.0	0	0.0	2.8	3.8		
© 2022 Ouget Analytics III C				-									

## **Pediatric General Surgery - Rural**

October 26, 2022

Access Analysis
Pediatric General Surgery-Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_General Surgery

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	1,609	Pediatric_General Sur	1 in 45 miles	2	804.5	1,609	100.0	0	0.0	7.4	7.9
Emanuel, GA	1,397	Pediatric_General Sur	1 in 45 miles	5	279.4	1,397	100.0	0	0.0	3.7	5.6
Glascock, GA	177	Pediatric_General Sur	1 in 45 miles	1	177.0	177	100.0	0	0.0	4.4	13.0
Greene, GA	750	Pediatric_General Sur	1 in 45 miles	18	41.7	750	100.0	0	0.0	10.1	12.1
Hancock, GA	303	Pediatric_General Sur	1 in 45 miles	2	151.5	303	100.0	0	0.0	5.2	5.7
Jefferson, GA	874	Pediatric_General Sur	1 in 45 miles	2	437.0	874	100.0	0	0.0	5.0	15.0
Jenkins, GA	559	Pediatric_General Sur	1 in 45 miles	1	559.0	559	100.0	0	0.0	4.7	18.5
Lincoln, GA	311	Pediatric_General Sur	1 in 45 miles	0		311	100.0	0	0.0	12.3	12.4
McDuffie, GA	1,796	Pediatric_General Sur	1 in 45 miles	4	449.0	1,796	100.0	0	0.0	11.4	12.0
Putnam, GA		Pediatric_General Sur	1 in 45 miles	9	101.7		100.0	0	0.0	4.7	5.1
Taliaferro, GA			1 in 45 miles	1	71.0		100.0	0	0.0	6.2	16.5
Warren, GA	391	Pediatric_General Sur	1 in 45 miles	1	391.0	391	100.0	0	0.0	3.9	15.1
Washington, GA	814	Pediatric_General Sur	1 in 45 miles	13	62.6	814	100.0	0	0.0	3.4	3.9
Wilkes, GA		Pediatric_General Sur	1 in 45 miles	20		617	100.0	0	0.0	4.6	
		_									
Grand Totals	10,584	Pediatric_General Sur	1 in 45 miles	79	134.0	10,584	100.0	0	0.0	6.6	9.5

# **Pediatric Hematology/Oncology - Urban**

October 26, 2022

Access Analysis
Pediatric Hematology/Oncology- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)
Pediatric\_Hematology/Oncology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac			cess	Average			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Columbia, GA		Pediatric_Hematology	1 in 30 miles	8			100.0		0.0	3.6	3.7		
Richmond, GA	13,944	Pediatric_Hematology	1 in 30 miles	106	131.5	13,944	100.0	0	0.0	5.1	5.5		
Grand Totals	19,673	Pediatric_Hematology	1 in 30 miles	114	172.6	19,673	100.0	0	0.0	4.6	5.0		

## **Pediatric Hematology/Oncology -Rural**

October 26, 2022

Access Analysis
Pediatric Hematology/Oncology- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_Hematology/Oncology

Number   Provider   Counts   Ratio Members   With Access   Without Access   Average Distance   Counts   France   Count				Members With a	nd With	out Access						
County         #         Group         Standard         # to Providers         # %         # %         1         2           Burke, GA         1,609         Pediatric_Hematology         1 in 45 miles         0		Member	Pro	ovider	Counts	Patio Members	With Ac	cess	Without Ac	cess	Average	Distance
Emanuel, GA       1,397       Pediatric_Hematology       1 in 45 miles       0	County	#	Group	Standard	#		#	%	#	%	1	2
Glascock, GA       177       Pediatric_Hematology       1 in 45 miles       0        177       100.0       0       0.0       25.0       33.5         Greene, GA       750       Pediatric_Hematology       1 in 45 miles       16       46.9       750       100.0       0       0.0       10.5       10.9         Hancock, GA       303       Pediatric_Hematology       1 in 45 miles       0        303       100.0       0       0.0       21.0       21.4         Jefferson, GA       874       Pediatric_Hematology       1 in 45 miles       0        874       100.0       0       0.0       25.5       32.2         Jenkins, GA       559       Pediatric_Hematology       1 in 45 miles       0        559       100.0       0       0.0       31.8       31.8         Lincoln, GA       311       Pediatric_Hematology       1 in 45 miles       0        311       100.0       0       0.0       19.2       31.9         McDuffie, GA       1,796       Pediatric_Hematology       1 in 45 miles       0        1,796       100.0       0       0.0       16.8       16.9         Putnam, GA<	Burke, GA	1,609	Pediatric_Hematology	1 in 45 miles	0		1,609	100.0	0	0.0	28.0	28.3
Greene, GA       750       Pediatric_Hematology       1 in 45 miles       16       46.9       750       100.0       0 0.0       10.5       10.9         Hancock, GA       303       Pediatric_Hematology       1 in 45 miles       0        303       100.0       0 0.0       21.0       21.4         Jefferson, GA       874       Pediatric_Hematology       1 in 45 miles       0        874       100.0       0 0.0       25.5       32.2         Jenkins, GA       559       Pediatric_Hematology       1 in 45 miles       0        559       100.0       0       0.0       31.8       31.8         Lincoln, GA       311       Pediatric_Hematology       1 in 45 miles       0        559       100.0       0       0.0       19.2       31.9         McDuffie, GA       1,796       Pediatric_Hematology       1 in 45 miles       0        311       100.0       0       0.0       16.8       16.9         Putnam, GA       915       Pediatric_Hematology       1 in 45 miles       2       457.5       915       100.0       0       0.0       12.0         Taliaferro, GA       71       Pediatric_Hematology	Emanuel, GA	1,397	Pediatric_Hematology	1 in 45 miles	0		1,397	100.0	0	0.0	27.4	27.4
Hancock, GA       303       Pediatric_Hematology       1 in 45 miles       0        303       100.0       0       0.0       21.0       21.4         Jefferson, GA       874       Pediatric_Hematology       1 in 45 miles       0        874       100.0       0       0.0       25.5       32.2         Jenkins, GA       559       Pediatric_Hematology       1 in 45 miles       0        559       100.0       0       0.0       31.8       31.8         Lincoln, GA       311       Pediatric_Hematology       1 in 45 miles       0        559       100.0       0       0.0       31.8       31.8         McDuffie, GA       311       Pediatric_Hematology       1 in 45 miles       0        311       100.0       0       0.0       19.2       31.9         McDuffie, GA       915       Pediatric_Hematology       1 in 45 miles       0        1,796       100.0       0       0.0       16.8       16.9         Putnam, GA       915       Pediatric_Hematology       1 in 45 miles       2       457.5       915       100.0       0       0.0       12.0       12.0         Warren, GA <td>Glascock, GA</td> <td>177</td> <td>Pediatric_Hematology</td> <td>1 in 45 miles</td> <td>0</td> <td></td> <td></td> <td></td> <td>0</td> <td>0.0</td> <td>25.0</td> <td>33.5</td>	Glascock, GA	177	Pediatric_Hematology	1 in 45 miles	0				0	0.0	25.0	33.5
Jefferson, GA       874       Pediatric_Hematology       1 in 45 miles       0        874       100.0       0       0.0       25.5       32.2         Jenkins, GA       559       Pediatric_Hematology       1 in 45 miles       0        559       100.0       0       0.0       31.8       31.8         Lincoln, GA       311       Pediatric_Hematology       1 in 45 miles       0        311       100.0       0       0.0       19.2       31.9         McDuffie, GA       1,796       Pediatric_Hematology       1 in 45 miles       0        1,796       100.0       0       0.0       16.8       16.9         Putnam, GA       915       Pediatric_Hematology       1 in 45 miles       2       457.5       915       100.0       0       0.0       12.0       12.0         Taliaferro, GA       71       Pediatric_Hematology       1 in 45 miles       0        71       100.0       0       0.0       16.6       22.8         Warren, GA       391       Pediatric_Hematology       1 in 45 miles       0        71       100.0       0       0.0       23.6       27.1         Washington, G	Greene, GA	750	Pediatric_Hematology	1 in 45 miles	16	46.9					10.5	
Jenkins, GA       559       Pediatric_Hematology       1 in 45 miles       0        559       100.0       0       0.0       31.8       31.8         Lincoln, GA       311       Pediatric_Hematology       1 in 45 miles       0        311       100.0       0       0.0       19.2       31.9         McDuffie, GA       1,796       Pediatric_Hematology       1 in 45 miles       0        1,796       100.0       0       0.0       16.8       16.9         Putnam, GA       915       Pediatric_Hematology       1 in 45 miles       2       457.5       915       100.0       0       0.0       12.0       12.0         Taliaferro, GA       71       Pediatric_Hematology       1 in 45 miles       0        71       100.0       0       0.0       16.6       22.8         Warren, GA       391       Pediatric_Hematology       1 in 45 miles       0        71       100.0       0       0.0       23.6       27.1         Washington, GA       814       Pediatric_Hematology       1 in 45 miles       1       814.0       814       100.0       0       0.0       5.6       37.4         Wilkes, GA<		303	Pediatric_Hematology	1 in 45 miles	0		303	100.0	0	0.0	21.0	
Lincoln, GA       311       Pediatric_Hematology       1 in 45 miles       0        311       100.0       0       0.0       19.2       31.9         McDuffie, GA       1,796       Pediatric_Hematology       1 in 45 miles       0        1,796       100.0       0       0.0       16.8       16.9         Putnam, GA       915       Pediatric_Hematology       1 in 45 miles       2       457.5       915       100.0       0       0.0       12.0       12.0         Taliaferro, GA       71       Pediatric_Hematology       1 in 45 miles       0        71       100.0       0       0.0       16.6       22.8         Warren, GA       391       Pediatric_Hematology       1 in 45 miles       0        71       100.0       0       0.0       23.6       27.1         Washington, GA       814       Pediatric_Hematology       1 in 45 miles       1       814.0       814       100.0       0       0.0       5.8       27.8         Wilkes, GA       617       Pediatric_Hematology       1 in 45 miles       1       617.0       617       100.0       0       0.0       5.6       37.4				1 in 45 miles	0							
McDuffie, GA       1,796       Pediatric_Hematology       1 in 45 miles       0        1,796       100.0       0       0.0       16.8       16.9         Putnam, GA       915       Pediatric_Hematology       1 in 45 miles       2       457.5       915       100.0       0       0.0       12.0       12.0         Taliaferro, GA       71       Pediatric_Hematology       1 in 45 miles       0        71       100.0       0       0.0       16.6       22.8         Warren, GA       391       Pediatric_Hematology       1 in 45 miles       0        391       100.0       0       0.0       23.6       27.1         Washington, GA       814       Pediatric_Hematology       1 in 45 miles       1       814.0       814       100.0       0       0.0       5.8       27.8         Wilkes, GA       617       Pediatric_Hematology       1 in 45 miles       1       617.0       617       100.0       0       0.0       5.6       37.4					0				0			
Putnam, GA       915       Pediatric_Hematology       1 in 45 miles       2       457.5       915       100.0       0       0.0       12.0       12.0         Taliaferro, GA       71       Pediatric_Hematology       1 in 45 miles       0        71       100.0       0       0.0       16.6       22.8         Warren, GA       391       Pediatric_Hematology       1 in 45 miles       0        391       100.0       0       0.0       23.6       27.1         Washington, GA       814       Pediatric_Hematology       1 in 45 miles       1       814.0       814       100.0       0       0.0       5.8       27.8         Wilkes, GA       617       Pediatric_Hematology       1 in 45 miles       1       617.0       617       100.0       0       0.0       5.6       37.4	Lincoln, GA	311	Pediatric_Hematology	1 in 45 miles	0		311	100.0		0.0	19.2	31.9
Taliaferro, GA       71       Pediatric_Hematology       1 in 45 miles       0        71       100.0       0       0.0       16.6       22.8         Warren, GA       391       Pediatric_Hematology       1 in 45 miles       0        391       100.0       0       0.0       23.6       27.1         Washington, GA       814       Pediatric_Hematology       1 in 45 miles       1       814.0       814       100.0       0       0.0       5.8       27.8         Wilkes, GA       617       Pediatric_Hematology       1 in 45 miles       1       617.0       617       100.0       0       0.0       5.6       37.4				1 in 45 miles	0							
Warren, GA       391       Pediatric_Hematology       1 in 45 miles       0        391       100.0       0       0.0       23.6       27.1         Washington, GA       814       Pediatric_Hematology       1 in 45 miles       1       814.0       814       100.0       0       0.0       5.8       27.8         Wilkes, GA       617       Pediatric_Hematology       1 in 45 miles       1       617.0       617       100.0       0       0.0       5.6       37.4	Putnam, GA	915	Pediatric_Hematology	1 in 45 miles	2	457.5				0.0	12.0	
Washington, GA       814       Pediatric_Hematology       1 in 45 miles       1       814.0       814       100.0       0       0.0       5.8       27.8         Wilkes, GA       617       Pediatric_Hematology       1 in 45 miles       1       617.0       617       100.0       0       0.0       5.6       37.4	Taliaferro, GA	71	Pediatric_Hematology	1 in 45 miles	0		71	100.0	0	0.0	16.6	
Wilkes, GA         617         Pediatric_Hematology         1 in 45 miles         1         617.0         617         100.0         0         0.0         5.6         37.4	Warren, GA	391	Pediatric_Hematology	1 in 45 miles	0							
	Washington, GA	814	Pediatric_Hematology	1 in 45 miles	1	814.0	814	100.0	0	0.0	5.8	27.8
Grand Totals 10,584 Pediatric_Hematology 1 in 45 miles 20 529.2 10,584 100.0 0 0.0 19.6 24.5	Wilkes, GA	617	Pediatric_Hematology	1 in 45 miles	1	617.0	617	100.0	0	0.0	5.6	37.4
Grand Totals 10,584 Pediatric_Hematology 1 in 45 miles 20 529.2 10,584 100.0 0 0.0 19.6 24.5												
	Grand Totals	10,584	Pediatric_Hematology	1 in 45 miles	20	529.2	10,584	100.0	0	0.0	19.6	24.5

#### **Pediatric Infectious Disease - Urban**

October 26, 2022

Access Analysis
Pediatric Infectious Disease- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)
Pediatric\_Infectious Disease

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Columbia, GA			1 in 30 miles	1	5,729.0		100.0		0.0	6.0	6.8		
Richmond, GA	13,944	Pediatric_Infectious Di	1 in 30 miles	44	316.9	13,944	100.0	0	0.0	3.5	3.9		
Grand Totals	19,673	Pediatric_Infectious Di	1 in 30 miles	45	437.2	19,673	100.0	0	0.0	4.2	4.7		
© 2022 Quest Analytics III C		!											

#### **Pediatric Infectious Disease - Rural**

October 26, 2022

Access Analysis
Pediatric Infectious Disease- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_Infectious Disease

			Members With a	and With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	1,609	Pediatric_Infectious Di	1 in 45 miles	3	536.3	1,609	100.0	0	0.0	7.5	7.9
Emanuel, GA	1,397	Pediatric_Infectious Di	1 in 45 miles	2	698.5	1,397	100.0	0	0.0	5.4	7.0
Glascock, GA	177	Pediatric_Infectious Di	1 in 45 miles	1	177.0	177	100.0	0	0.0	4.4	12.9
Greene, GA	750	Pediatric_Infectious Di	1 in 45 miles	0		750	100.0	0	0.0	16.7	24.7
Hancock, GA	303	Pediatric_Infectious Di	1 in 45 miles	1	303.0	303	100.0	0	0.0	5.3	18.9
Jefferson, GA	874	Pediatric_Infectious Di	1 in 45 miles	2	437.0	874	100.0	0	0.0	9.9	10.8
Jenkins, GA	559	Pediatric_Infectious Di	1 in 45 miles	0		559	100.0	0	0.0	19.6	21.5
Lincoln, GA	311	Pediatric_Infectious Di	1 in 45 miles	0		311	100.0	0	0.0	17.4	18.2
McDuffie, GA	1,796	Pediatric_Infectious Di	1 in 45 miles	1	1,796.0	1,796	100.0	0	0.0	6.3	13.9
Putnam, GA	915	Pediatric_Infectious Di	1 in 45 miles	0		915	100.0	0	0.0	16.0	18.7
Taliaferro, GA	71	Pediatric_Infectious Di	1 in 45 miles	1	71.0	71	100.0	0	0.0	6.2	16.7
Warren, GA	391	Pediatric_Infectious Di	1 in 45 miles	1	391.0	391	100.0	0	0.0	3.9	14.0
Washington, GA	814	Pediatric_Infectious Di	1 in 45 miles	10	81.4	814	100.0	0	0.0	3.4	3.9
Wilkes, GA	617	Pediatric_Infectious Di	1 in 45 miles	6	102.8	617	100.0	0	0.0	4.6	5.2
Grand Totals	10,584	Pediatric_Infectious Di	1 in 45 miles	28	378.0	10,584	100.0	0	0.0	8.8	12.4

81

## **Pediatric Nephrology - Urban**

October 26, 2022

Access Analysis
Pediatric Nephrology- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)
Pediatric\_Nephrology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Columbia, GA		Pediatric_Nephrology	1 in 30 miles	40			100.0		0.0	3.1	4.7		
Richmond, GA	13,944	Pediatric_Nephrology	1 in 30 miles	150	93.0	13,944	100.0	0	0.0	2.3	2.4		
Grand Totals	19,673	Pediatric_Nephrology	1 in 30 miles	190	103.5	19,673	100.0	0	0.0	2.5	3.1		
© 2022 Quest Analytics II C													

## **Pediatric Nephrology - Rural**

October 26, 2022

Access Analysis
Pediatric Nephrology- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_Nephrology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	1,609	Pediatric_Nephrology	1 in 45 miles	15	107.3	1,609	100.0	0	0.0	7.3	7.5
Emanuel, GA	1,397	Pediatric_Nephrology	1 in 45 miles	14	99.8	1,397	100.0	0	0.0	5.0	5.5
Glascock, GA		Pediatric_Nephrology	1 in 45 miles	1	177.0		100.0	0	0.0	4.4	12.8
Greene, GA	750	Pediatric_Nephrology	1 in 45 miles	24	31.3		100.0	0	0.0	5.3	
Hancock, GA	303	Pediatric_Nephrology	1 in 45 miles	1	303.0		100.0	0	0.0	5.3	18.6
Jefferson, GA		Pediatric_Nephrology	1 in 45 miles	16		874		0	0.0	4.6	
Jenkins, GA		Pediatric_Nephrology	1 in 45 miles	5	111.8		100.0	0	0.0	4.7	4.7
Lincoln, GA		Pediatric_Nephrology	1 in 45 miles	0			100.0	0	0.0	17.4	17.9
McDuffie, GA	1,796	Pediatric_Nephrology	1 in 45 miles	18	99.8		100.0	0	0.0	3.4	3.5
Putnam, GA	915	Pediatric_Nephrology	1 in 45 miles	8	114.4		100.0	0	0.0	4.2	
Taliaferro, GA	71	Pediatric_Nephrology	1 in 45 miles	1	71.0	71	100.0	0	0.0	6.1	
Warren, GA	391	Pediatric_Nephrology	1 in 45 miles	3	130.3	391	100.0	0	0.0	3.2	
Washington, GA	814	Pediatric_Nephrology	1 in 45 miles	14	58.1	814	100.0	0	0.0	3.4	3.8
Wilkes, GA	617	Pediatric_Nephrology	1 in 45 miles	12	51.4	617	100.0	0	0.0	4.6	5.1
Grand Totals	10,584	Pediatric_Nephrology	1 in 45 miles	132	80.2	10,584	100.0	0	0.0	5.1	6.0
			<u>l</u>	L							

## **Pediatric Neurology - Urban**

October 26, 2022

Access Analysis
Pediatric Neurology- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)
Pediatric\_Neurology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pi	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Columbia, GA		Pediatric_Neurology	1 in 30 miles	7	818.4		100.0		0.0	5.4	5.5		
Richmond, GA	13,944	Pediatric_Neurology	1 in 30 miles	119	117.2	13,944	100.0	0	0.0	4.3	5.0		
Grand Totals	19,673	Pediatric_Neurology	1 in 30 miles	126	156.1	19,673	100.0	0	0.0	4.6	5.2		
		_											
© 2022 Quaet Analytics II C													

## **Pediatric Neurology - Rural**

October 26, 2022

Access Analysis
Pediatric Neurology- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_Neurology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA		Pediatric_Neurology	1 in 45 miles	2	804.5		100.0	0	0.0	7.5	8.0
Emanuel, GA	1,397	Pediatric_Neurology	1 in 45 miles	5	279.4	1,397		0	0.0	5.1	5.8
Glascock, GA		Pediatric_Neurology	1 in 45 miles	1	177.0		100.0	0	0.0	4.4	13.0
Greene, GA		Pediatric_Neurology	1 in 45 miles	14			100.0	0	0.0	10.8	13.2
Hancock, GA		Pediatric_Neurology	1 in 45 miles	1	303.0		100.0	0	0.0	5.3	18.7
Jefferson, GA		Pediatric_Neurology	1 in 45 miles	1	874.0			0	0.0	10.3	17.5
Jenkins, GA		Pediatric_Neurology	1 in 45 miles	1	559.0		100.0	0	0.0	4.8	19.0
Lincoln, GA	311	Pediatric_Neurology	1 in 45 miles	0		311	100.0	0	0.0	17.6	
McDuffie, GA	1,796	Pediatric_Neurology	1 in 45 miles	0			100.0	0	0.0	13.8	19.8
Putnam, GA	915	Pediatric_Neurology	1 in 45 miles	1	915.0		100.0	0	0.0	10.8	13.8
Taliaferro, GA	71	Pediatric_Neurology	1 in 45 miles	1	71.0	71	100.0	0	0.0	6.2	16.6
Warren, GA	391	Pediatric_Neurology	1 in 45 miles	1	391.0	391	100.0	0	0.0	3.9	15.1
Washington, GA	814	Pediatric_Neurology	1 in 45 miles	14	58.1	814	100.0	0	0.0	3.4	3.9
Wilkes, GA	617	Pediatric_Neurology	1 in 45 miles	6	102.8	617	100.0	0	0.0	4.7	5.2
Grand Totals	10,584	Pediatric_Neurology	1 in 45 miles	48	220.5	10,584	100.0	0	0.0	8.4	12.5
			<u> </u>	L							

## **Pediatric Ophthalmology - Urban**

October 26, 2022

Access Analysis
Pediatric Ophthalmology- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)
Pediatric\_Ophthalmology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Columbia, GA		Pediatric_Ophthalmol	1 in 30 miles	0			100.0		0.0	6.8	6.8	
Richmond, GA	13,944	Pediatric_Ophthalmol	1 in 30 miles	21	664.0	13,944	100.0	0	0.0	5.7		
Grand Totals	40.672	Dadiatria Onhthalmal	1 in 20 miles	04	936.8	19,673	100.0	0	0.0	6.0	6.1	
Grand Totals	19,073	Pediatric_Ophthalmol	1 in 30 miles	21	930.8	19,073	100.0	0	0.0	0.0	0.1	
2022 Quest Analytics LLC	_			_								

## **Pediatric Ophthalmology - Rural**

October 26, 2022

Access Analysis
Pediatric Ophthalmology- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_Ophthalmology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	1,609	Pediatric_Ophthalmol	1 in 45 miles	1	1,609.0	1,609	100.0	0	0.0	8.3	27.6
Emanuel, GA	1,397	Pediatric_Ophthalmol	1 in 45 miles	2	698.5	1,397	100.0	0	0.0	6.8	6.8
Glascock, GA	177	Pediatric_Ophthalmol	1 in 45 miles	0		177	100.0	0	0.0	35.8	37.4
Greene, GA	750	Pediatric_Ophthalmol	1 in 45 miles	4	187.5		100.0		0.0	13.5	13.6
Hancock, GA	303	Pediatric_Ophthalmol	1 in 45 miles	0		303		0	0.0	21.9	21.9
Jefferson, GA	874	Pediatric_Ophthalmol	1 in 45 miles	0		874			0.0	26.1	30.7
Jenkins, GA	559	Pediatric_Ophthalmol	1 in 45 miles	0		559	100.0	0	0.0	21.8	29.4
Lincoln, GA	311	Pediatric_Ophthalmol	1 in 45 miles	0		311	100.0	0	0.0	19.3	36.3
McDuffie, GA	1,796	Pediatric_Ophthalmol	1 in 45 miles	0		1,796	100.0	0	0.0	23.0	23.1
Putnam, GA	915	Pediatric_Ophthalmol	1 in 45 miles	0		915	100.0	0	0.0	14.1	14.3
Taliaferro, GA	71	Pediatric_Ophthalmol	1 in 45 miles	0		71	100.0	0	0.0	17.2	25.8
Warren, GA	391	Pediatric_Ophthalmol	1 in 45 miles	0		391	100.0	0	0.0	24.3	32.9
Washington, GA	814	Pediatric_Ophthalmol	1 in 45 miles	0		814	100.0	0	0.0	30.3	31.7
Wilkes, GA	617	Pediatric_Ophthalmol	1 in 45 miles	1	617.0	617	100.0	0	0.0	5.6	40.5
Grand Totals	10,584	Pediatric_Ophthalmol	1 in 45 miles	8	1,323.0	10,584	100.0	0	0.0	17.0	23.8

## **Pediatric Optometry - Urban**

October 26, 2022

Access Analysis
Pediatric Optometry- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)
Pediatric\_Optometry

			Members With	and With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA	5,729	Pediatric_Optometry	1 in 30 miles	9	636.6	5,729	100.0	0	0.0	5.5	5.8
Richmond, GA	13,944	Pediatric_Optometry	1 in 30 miles	15	929.6	13,944	100.0	0	0.0	3.8	5.1
								_			
Grand Totals	19,673	Pediatric_Optometry	1 in 30 miles	24	819.7	19,673	100.0	0	0.0	4.3	5.3
© 2022 Quest Analytics III C		<u> </u>	<u>I</u>								

## **Pediatric Optometry - Rural**

October 26, 2022

Access Analysis
Pediatric Optometry- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_Optometry

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	1,609	Pediatric_Optometry	1 in 45 miles	2	804.5		100.0	0	0.0	9.1	9.1
Emanuel, GA	1,397	Pediatric_Optometry	1 in 45 miles	0				0	0.0	28.1	32.8
Glascock, GA		Pediatric_Optometry	1 in 45 miles	0			100.0	0	0.0	20.8	20.8
Greene, GA		Pediatric_Optometry	1 in 45 miles	6	125.0		100.0	0	0.0	13.2	
Hancock, GA		Pediatric_Optometry	1 in 45 miles	0			100.0	0	0.0	21.5	21.5
Jefferson, GA		Pediatric_Optometry	1 in 45 miles	0		874	100.0	0	0.0	25.1	25.1
Jenkins, GA		Pediatric_Optometry	1 in 45 miles	0			100.0	0	0.0	22.1	22.2
Lincoln, GA	311	Pediatric_Optometry	1 in 45 miles	0		311	100.0	0	0.0	23.6	23.6
McDuffie, GA	1,796	Pediatric_Optometry	1 in 45 miles	2	898.0		100.0	0	0.0	4.1	4.1
Putnam, GA	915	Pediatric_Optometry	1 in 45 miles	0			100.0	0	0.0	13.7	13.9
Taliaferro, GA	71	Pediatric_Optometry	1 in 45 miles	0		71	100.0	0	0.0	24.1	24.1
Warren, GA	391	Pediatric_Optometry	1 in 45 miles	0		391	100.0	0	0.0	12.2	12.2
Washington, GA	814	Pediatric_Optometry	1 in 45 miles	0		814	100.0	0	0.0	30.3	30.9
Wilkes, GA	617	Pediatric_Optometry	1 in 45 miles	0		617	100.0	0	0.0	30.1	30.1
Grand Totals	10,584	Pediatric_Optometry	1 in 45 miles	10	1,058.4	10,584	100.0	0	0.0	17.5	18.2

## **Pediatric Orthopedics - Urban**

October 26, 2022

Access Analysis
Pediatric Othopedics- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)
Pediatric\_Orthopedics

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pr		Counts	Ratio Members	With Ac			cess	Average		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Columbia, GA		Pediatric_Orthopedics	1 in 30 miles	47	121.9		100.0		0.0	2.8		
Richmond, GA	13,944	Pediatric_Orthopedics	1 in 30 miles	148	94.2	13,944	100.0	0	0.0	2.4	3.7	
Grand Totals	19,673	Pediatric_Orthopedics	1 in 30 miles	195	100.9	19,673	100.0	0	0.0	2.5	3.5	

## **Pediatric Orthopedics - Rural**

October 26, 2022

Access Analysis
Pediatric Orthopedics- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_Orthopedics

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	1,609	Pediatric_Orthopedics	1 in 45 miles	9	178.8	1,609	100.0	0	0.0	7.2	7.6
Emanuel, GA	1,397	Pediatric_Orthopedics	1 in 45 miles	36	38.8	1,397	100.0	0	0.0	3.6	4.1
Glascock, GA	177	Pediatric_Orthopedics	1 in 45 miles	1	177.0	177	100.0	0	0.0	4.4	13.0
Greene, GA	750	Pediatric_Orthopedics	1 in 45 miles	9	83.3		100.0	0	0.0	6.0	9.8
Hancock, GA	303	Pediatric_Orthopedics	1 in 45 miles	1	303.0	303	100.0	0	0.0	5.3	18.6
Jefferson, GA	874	Pediatric_Orthopedics	1 in 45 miles	4	218.5	874	100.0	0	0.0	4.5	9.7
Jenkins, GA	559	Pediatric_Orthopedics	1 in 45 miles	31	18.0	559	100.0	0	0.0	4.2	4.7
Lincoln, GA	311	Pediatric_Orthopedics	1 in 45 miles	0		311	100.0	0	0.0	10.3	12.4
McDuffie, GA		Pediatric_Orthopedics	1 in 45 miles	15	119.7	1,796	100.0	0	0.0	3.8	4.2
Putnam, GA	915	Pediatric_Orthopedics	1 in 45 miles	0		915	100.0	0	0.0	11.3	12.4
Taliaferro, GA	71	Pediatric_Orthopedics	1 in 45 miles	1	71.0	71	100.0	0	0.0	6.0	13.5
Warren, GA	391	Pediatric_Orthopedics	1 in 45 miles	1	391.0	391	100.0	0	0.0	3.8	10.9
Washington, GA	814	Pediatric_Orthopedics	1 in 45 miles	35	23.3	814	100.0	0	0.0	3.4	3.8
Wilkes, GA	617	Pediatric_Orthopedics	1 in 45 miles	13	47.5	617	100.0	0	0.0	4.4	5.0
		·									
Grand Totals	10,584	Pediatric_Orthopedics	1 in 45 miles	156	67.8	10,584	100.0	0	0.0	5.4	7.4
	L		1				Ь				

## **Pediatric Rheumatology - Urban**

October 26, 2022

Access Analysis
Pediatric Rheumatology- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)
Pediatric\_Rheumatology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA	5,729		1 in 30 miles	0			100.0		0.0	7.3	
Richmond, GA	13,944	Pediatric_Rheumatology	1 in 30 miles	18	774.7	13,944	100.0	0	0.0	5.8	5.8
Grand Totals	19,673	Pediatric_Rheumatology	1 in 30 miles	18	1,092.9	19,673	100.0	0	0.0	6.2	6.2
© 2022 Queet Analytics II C											

## **Pediatric Rheumatology - Rural**

October 26, 2022

Access Analysis
Pediatric Rheumatology- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_Rheumatology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	1,609	Pediatric_Rheumatology	1 in 45 miles	0		1,492	92.7	117	7.3	30.1	30.1
Emanuel, GA	1,397	Pediatric_Rheumatology	1 in 45 miles	0		33	2.4	1,364	97.6	56.7	57.2
Glascock, GA	177	Pediatric_Rheumatology	1 in 45 miles	0		173	97.7	4	2.3	39.9	41.3
Greene, GA	750	Pediatric_Rheumatology	1 in 45 miles	1	750.0		100.0	0	0.0	13.6	35.4
Hancock, GA	303	Pediatric_Rheumatology	1 in 45 miles	0		303	100.0	0	0.0	25.8	52.5
Jefferson, GA		Pediatric_Rheumatology	1 in 45 miles	0		665	76.1	209	23.9	39.9	39.9
Jenkins, GA		Pediatric_Rheumatology	1 in 45 miles	0		101	18.1	458	81.9	47.5	47.5
Lincoln, GA	311	Pediatric_Rheumatology	1 in 45 miles	0		306	98.4	5	1.6	36.7	36.7
McDuffie, GA		Pediatric_Rheumatology	1 in 45 miles	0		1,796		0	0.0	23.2	23.2
Putnam, GA	915	Pediatric_Rheumatology	1 in 45 miles	0		915	100.0		0.0	15.8	39.3
Taliaferro, GA	71	Pediatric_Rheumatology	1 in 45 miles	0		71	100.0	0	0.0	25.8	45.2
Warren, GA	391	Pediatric_Rheumatology	1 in 45 miles	0		391	100.0	0	0.0	32.9	34.7
Washington, GA	814	Pediatric_Rheumatology	1 in 45 miles	0		70	8.6	744	91.4	50.3	51.4
Wilkes, GA	617	Pediatric_Rheumatology	1 in 45 miles	0		610	98.9	7	1.1	39.9	41.9
Grand Totals	10,584	Pediatric_Rheumatology	1 in 45 miles	1	10,584.0	7,676	72.5	2,908	27.5	34.2	39.0

## **Pediatric Vascular Surgery - Urban**

October 26, 2022

Access Analysis
Pediatric Vascular Surgery- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)
Pediatric\_Vascular Surgery

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Columbia, GA	5,729	Pediatric_Vascular Su	1 in 30 miles	5	1,145.8	5,729	100.0	0	0.0	5.7	5.8		
Richmond, GA	13,944	Pediatric_Vascular Su	1 in 30 miles	62	224.9		100.0	0	0.0	4.9	5.3		
Grand Totals	19,673	Pediatric_Vascular Su	1 in 30 miles	67	293.6	19,673	100.0	0	0.0	5.1	5.4		
© 2022 Quest Analytics, LLC.				<u> </u>			L						

94

## **Pediatric Vascular Surgery -Rural**

October 26, 2022

Access Analysis
Pediatric Vascular Surgery- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_Vascular Surgery

			Members With	and With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	1,609	Pediatric_Vascular Su	1 in 45 miles	0		1,609	100.0	0	0.0	28.2	28.3
Emanuel, GA	1,397	Pediatric_Vascular Su	1 in 45 miles	0			100.0		0.0	23.3	23.3
Glascock, GA	177	Pediatric_Vascular Su	1 in 45 miles	0		177	100.0	0	0.0	25.0	38.1
Greene, GA	750	Pediatric_Vascular Su	1 in 45 miles	1	750.0	750	100.0	0	0.0	11.0	33.9
Hancock, GA	303	Pediatric_Vascular Su	1 in 45 miles	0		303	100.0	0	0.0	22.0	26.0
Jefferson, GA	874	Pediatric_Vascular Su	1 in 45 miles	0		874	100.0	0	0.0	28.4	38.8
Jenkins, GA	559	Pediatric_Vascular Su	1 in 45 miles	0		559	100.0	0	0.0	29.8	29.8
Lincoln, GA	311	Pediatric_Vascular Su	1 in 45 miles	0		311	100.0	0	0.0	32.2	32.2
McDuffie, GA	1,796	Pediatric_Vascular Su	1 in 45 miles	0		1,796	100.0	0	0.0	22.6	22.7
Putnam, GA	915	Pediatric_Vascular Su	1 in 45 miles	0		915	100.0	0	0.0	16.6	22.8
Taliaferro, GA	71	Pediatric_Vascular Su	1 in 45 miles	0		71	100.0	0	0.0	23.1	40.5
Warren, GA	391	Pediatric_Vascular Su	1 in 45 miles	0		391	100.0	0	0.0	31.1	33.2
Washington, GA	814	Pediatric_Vascular Su	1 in 45 miles	1	814.0	814	100.0	0	0.0	5.9	31.6
Wilkes, GA	617	Pediatric_Vascular Su	1 in 45 miles	0		617	100.0	0	0.0	37.7	40.6
Grand Totals	10,584	Pediatric_Vascular Su	1 in 45 miles	2	5,292.0	10,584	100.0	0	0.0	23.3	29.0
L										L	L

## **Pediatric Urology - Urban**

October 26, 2022

Access Analysis
Pediatric Urology- Urban
Member / Provider Groups
Pediatric Urban Members
(EAST\_URBAN)
Pediatric\_Urology

			Members With	and With	out Access						
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA	5,729	Pediatric_Urology	1 in 30 miles	11	520.8		100.0		0.0	5.0	6.0
Richmond, GA	13,944	Pediatric_Urology	1 in 30 miles	30	464.8	13,944	100.0	0	0.0	3.1	4.0
Grand Totals	19,673	Pediatric_Urology	1 in 30 miles	41	479.8	19,673	100.0	0	0.0	3.7	4.6
© 2022 Ouget Analytics III C											

## **Pediatric Urology -Rural**

October 26, 2022

Access Analysis
Pediatric Urology- Rural
Member / Provider Groups
Pediatric Rural Members
(EAST\_RURAL)
Pediatric\_Urology

			Members With a	nd With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	1,609	Pediatric_Urology	1 in 45 miles	1	1,609.0	1,609	100.0	0	0.0	9.0	23.5
Emanuel, GA	1,397	Pediatric_Urology	1 in 45 miles	0		1,397	100.0	0	0.0	27.6	27.7
Glascock, GA	177	Pediatric_Urology	1 in 45 miles	0		177	100.0	0	0.0	35.1	35.7
Greene, GA	750	Pediatric_Urology	1 in 45 miles	7	107.1		100.0	0	0.0	6.2	13.2
Hancock, GA	303	Pediatric_Urology	1 in 45 miles	0		303	100.0	0	0.0	20.9	21.4
Jefferson, GA		Pediatric_Urology	1 in 45 miles	0		874	100.0	0	0.0		36.3
Jenkins, GA		Pediatric_Urology	1 in 45 miles	0			100.0	0	0.0		32.5
Lincoln, GA		Pediatric_Urology	1 in 45 miles	0			100.0	0	0.0		19.3
McDuffie, GA		Pediatric_Urology	1 in 45 miles	0			100.0	0	0.0	21.1	22.5
Putnam, GA	915	Pediatric_Urology	1 in 45 miles	0			100.0	0	0.0		14.4
Taliaferro, GA		Pediatric_Urology	1 in 45 miles	0			100.0	0	0.0	12.2	17.2
Warren, GA		Pediatric_Urology	1 in 45 miles	0		391	100.0	0	0.0		24.3
Washington, GA		Pediatric_Urology	1 in 45 miles	0		814		0	0.0	30.2	30.4
Wilkes, GA	617	Pediatric_Urology	1 in 45 miles	3	205.7	617	100.0	0	0.0	5.6	5.6

#### **Pharmacy - Urban**

October 26, 2022

Access Analysis
Pharmacy- Urban

Member / Provider Groups
Urban Members (EAST\_URBAN)
PHARMACY

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA		PHARMACY	1 in 15 miles	21			100.0		0.0	1.7	2.5
Richmond, GA	18,940	PHARMACY	1 in 15 miles	30	631.3	18,940	100.0	0	0.0	1.7	2.6
0 1711	00.540	DUADAA OV	4: 45 11	F4	540.0	00 540	400.0	0	0.0	4.7	0.0
Grand Totals	26,510	PHARMACY	1 in 15 miles	51	519.8	26,510	100.0	0	0.0	1.7	2.6
© 2022 Ouget Analytics LLC		L					Ц				

#### **Pharmacy -Rural**

October 26, 2022

Access Analysis Pharmacy- Rural Member / Provider Groups Rural Members (EAST\_RURAL) PHARMACY

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	PHARMACY	1 in 30 miles	4	518.3	2,073	100.0	0	0.0	6.8	7.6
Emanuel, GA	1,833	PHARMACY	1 in 30 miles	6	305.5	1,833		0	0.0	3.8	
Glascock, GA	235	PHARMACY	1 in 30 miles	0			100.0	0	0.0	12.8	14.2
Greene, GA	967	PHARMACY	1 in 30 miles	4	241.8		100.0	0	0.0	3.6	
Hancock, GA	416	PHARMACY	1 in 30 miles	1	416.0	416	100.0	0	0.0	5.3	19.4
Jefferson, GA	1,172	PHARMACY	1 in 30 miles	7	167.4		100.0	0	0.0	3.3	4.8
Jenkins, GA	730	PHARMACY	1 in 30 miles	1	730.0	730	100.0	0	0.0	4.7	18.6
Lincoln, GA	426	PHARMACY	1 in 30 miles	2	213.0	426	100.0	0	0.0	5.1	5.2
McDuffie, GA	2,363	PHARMACY	1 in 30 miles	5	472.6	2,363	100.0	0	0.0	2.6	3.7
Putnam, GA	1,191	PHARMACY	1 in 30 miles	5	238.2	1,191	100.0	0	0.0	3.8	4.7
Taliaferro, GA	100	PHARMACY	1 in 30 miles	0		100	100.0	0	0.0	13.2	15.4
Warren, GA	529	PHARMACY	1 in 30 miles	1	529.0	529	100.0	0	0.0	3.7	11.2
Washington, GA	1,090	PHARMACY	1 in 30 miles	5	218.0	1,090	100.0	0	0.0	4.0	5.1
Wilkes, GA	796	PHARMACY	1 in 30 miles	2	398.0	796	100.0	0	0.0	5.0	5.9
Grand Totals	13,921	PHARMACY	1 in 30 miles	43	323.7	13,921	100.0	0	0.0	4.4	7.2
L			1								

## 24 Hour Pharmacy - Urban

October 26, 2022

Access Analysis 24 Hour Pharmacy- Urban Member / Provider Groups Urban Members (EAST\_URBAN) 24 Hour Pharmacy

			Members With	and With	out Access						
	Member	F	Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA		24 Hour Pharmacy	1 in 15 miles	0		0			100.0	97.9	99.8
Richmond, GA	18,940	24 Hour Pharmacy	1 in 15 miles	0		0	0.0	18,940	100.0	101.4	107.4
Grand Totals	26,510	24 Hour Pharmacy	1 in 15 miles	0		0	0.0	26,510	100.0	100.4	105.3
<del></del>											·

## 24 Hour Pharmacy - Rural

October 26, 2022

Access Analysis 24 Hour Pharmacy- Rural Member / Provider Groups Rural Members (EAST\_RURAL) 24 Hour Pharmacy

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	2,073	100.0	97.9	116.9
Emanuel, GA	1,833	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	1,833	100.0	82.5	119.5
Glascock, GA		24 Hour Pharmacy	1 in 30 miles	0		0	0.0		100.0	68.0	78.9
Greene, GA	967	24 Hour Pharmacy	1 in 30 miles	0		0	0.0		100.0	42.4	60.8
Hancock, GA	416	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	416	100.0	53.6	60.9
Jefferson, GA		24 Hour Pharmacy	1 in 30 miles	0		0	0.0			74.6	94.6
Jenkins, GA		24 Hour Pharmacy	1 in 30 miles	0		0	0.0	730	100.0	99.0	126.3
Lincoln, GA	426	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	426	100.0	83.6	90.8
McDuffie, GA	2,363	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	2,363	100.0	81.5	84.7
Putnam, GA	1,191	24 Hour Pharmacy	1 in 30 miles	0		5	0.4	1,186	99.6	38.7	44.5
Taliaferro, GA	100	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	100	100.0	56.7	73.0
Warren, GA	529	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	529	100.0	71.5	75.1
Washington, GA	1,090	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	1,090	100.0	50.1	83.8
Wilkes, GA	796	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	796	100.0	65.9	75.5
Grand Totals	13,921	24 Hour Pharmacy	1 in 30 miles	0		5	0.1	13,916	99.9	73.1	90.3
		l	I.	l							

## **Occupational Therapy - Urban**

October 26, 2022

Access Analysis
Occupational Therapy- Urban
Member / Provider Groups
Urban Members (EAST\_URBAN)
Occupational Therapy

			Members With a	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA	7,570	Occupational Therapy	1 in 30 miles	59			100.0		0.0	2.1	3.0
Richmond, GA	18,940	Occupational Therapy	1 in 30 miles	57	332.3	18,940	100.0	0	0.0	3.2	3.6
Grand Totals	00 540	Ossumational Thomas	4 in 20 miles	110	220 5	26,510	100.0	0	0.0	2.9	3.4
Grand Totals	20,510	Occupational Therapy	1 in 30 miles	116	228.5	20,510	100.0	0	0.0	2.9	3.4
2022 Quest Analytics LLC	_			_		_					

## **Occupational Therapy - Rural**

October 26, 2022

Access Analysis
Occupational Therapy- Rural
Member / Provider Groups
Rural Members (EAST\_RURAL)
Occupational Therapy

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Occupational Therapy	1 in 45 miles	9	230.3	2,073	100.0	0	0.0	7.5	7.9
Emanuel, GA	1,833	Occupational Therapy	1 in 45 miles	5	366.6	1,833	100.0	0	0.0	5.9	6.3
Glascock, GA	235	Occupational Therapy	1 in 45 miles	0		235	100.0	0	0.0	22.6	26.2
Greene, GA	967	Occupational Therapy	1 in 45 miles	0		967	100.0	0	0.0	20.8	30.9
Hancock, GA	416	Occupational Therapy	1 in 45 miles	0		416	100.0	0	0.0	22.9	27.9
Jefferson, GA	1,172	Occupational Therapy	1 in 45 miles	1	1,172.0		100.0	0	0.0		19.8
Jenkins, GA		Occupational Therapy	1 in 45 miles	3	243.3		100.0	0	0.0	4.6	4.7
Lincoln, GA	426	Occupational Therapy	1 in 45 miles	0			100.0		0.0		30.5
McDuffie, GA	2,363	Occupational Therapy	1 in 45 miles	0		2,363	100.0	0	0.0	11.3	17.0
Putnam, GA	1,191	Occupational Therapy	1 in 45 miles	0		1,191	100.0	0	0.0	17.9	25.0
Taliaferro, GA	100	Occupational Therapy	1 in 45 miles	0		100	100.0	0	0.0	33.5	37.4
Warren, GA		Occupational Therapy	1 in 45 miles	0		529	100.0	0	0.0	20.1	27.6
Washington, GA	1,090	Occupational Therapy	1 in 45 miles	1	1,090.0	1,090	100.0	0	0.0	5.4	18.5
Wilkes, GA	796	Occupational Therapy	1 in 45 miles	0		796	100.0	0	0.0	38.0	38.7
Grand Totals	13,921	Occupational Therapy	1 in 45 miles	19	732.7	13,921	100.0	0	0.0	13.4	18.3
			!								

## **Physical Therapy - Urban**

October 26, 2022

Access Analysis
Physical Therapy- Urban
Member / Provider Groups
Urban Members (EAST\_URBAN)
Physical Therapy

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members			Without Ac	cess	Average	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA	7,570	Physical Therapy	1 in 30 miles	46		7,570	100.0	0			3.0
Richmond, GA	18,940	Physical Therapy	1 in 30 miles	51	371.4	18,940	100.0	0	0.0	3.5	3.6
Oursel Tabala	00.540	Dhariad Theorem	4 in 20 miles	07	072.2	00.540	400.0	0	0.0	2.2	2.5
Grand Totals	26,510	Physical Therapy	1 in 30 miles	97	273.3	26,510	100.0	0	0.0	3.3	3.5
© 2022 Quest Analytics LLC	L					L	<u> </u>				L

## **Physical Therapy - Rural**

October 26, 2022

Access Analysis
Physical Therapy- Rural
Member / Provider Groups
Rural Members (EAST\_RURAL)
Physical Therapy

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Physical Therapy	1 in 45 miles	1	2,073.0	2,073	100.0	0	0.0	11.2	19.0
Emanuel, GA	1,833	Physical Therapy	1 in 45 miles	3	611.0		100.0	0	0.0	5.9	6.6
Glascock, GA	235	Physical Therapy	1 in 45 miles	0			100.0	0	0.0	19.0	19.9
Greene, GA	967	Physical Therapy	1 in 45 miles	5	193.4		100.0	0	0.0	13.6	13.6
Hancock, GA	416	Physical Therapy	1 in 45 miles	0		416	100.0	0	0.0	18.3	19.4
Jefferson, GA	1,172	Physical Therapy	1 in 45 miles	0			100.0	0	0.0	21.2	21.8
Jenkins, GA	730	Physical Therapy	1 in 45 miles	1	730.0	730	100.0	0	0.0	4.8	20.0
Lincoln, GA	426	Physical Therapy	1 in 45 miles	0		426	100.0	0	0.0	12.4	22.2
McDuffie, GA	2,363	Physical Therapy	1 in 45 miles	4	590.8	2,363	100.0	0	0.0	3.1	4.2
Putnam, GA	1,191	Physical Therapy	1 in 45 miles	1	1,191.0	1,191	100.0	0	0.0	10.0	11.3
Taliaferro, GA	100	Physical Therapy	1 in 45 miles	0		100	100.0	0	0.0	22.7	23.9
Warren, GA	529	Physical Therapy	1 in 45 miles	0		529	100.0	0	0.0	12.1	13.2
Washington, GA	1,090	Physical Therapy	1 in 45 miles	2	545.0	1,090	100.0	0	0.0	5.4	5.4
Wilkes, GA	796	Physical Therapy	1 in 45 miles	0		796	100.0	0	0.0	22.7	29.1
Grand Totals	13,921	Physical Therapy	1 in 45 miles	17	818.9	13,921	100.0	0	0.0	10.4	13.6

## **Speech Therapy - Urban**

October 26, 2022

Access Analysis SpeechTherapy- Urban Member / Provider Groups Urban Members (EAST\_URBAN) Speech Therapy

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member		Provider	Counts	Ratio Members	With Ac			cess	Average		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Columbia, GA		Speech Therapy	1 in 30 miles	75			100.0		0.0	2.7	3.2	
Richmond, GA	18,940	Speech Therapy	1 in 30 miles	42	451.0	18,940	100.0	0	0.0	3.4	3.9	
Grand Totals	26,510	Speech Therapy	1 in 30 miles	117	226.6	26,510	100.0	0	0.0	3.2	3.7	

## **Speech Therapy - Rural**

October 26, 2022

Access Analysis Speech Therapy- Rural Member / Provider Groups Rural Members (EAST\_RURAL) Speech Therapy

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Speech Therapy	1 in 45 miles	9	230.3	2,073	100.0	0	0.0	7.2	7.8
Emanuel, GA	1,833	Speech Therapy	1 in 45 miles	9	203.7	1,833	100.0	0	0.0	4.9	5.6
Glascock, GA	235	Speech Therapy	1 in 45 miles	1	235.0	235	100.0	0	0.0	4.2	13.0
Greene, GA	967	Speech Therapy	1 in 45 miles	1	967.0	967	100.0	0	0.0	10.0	16.8
Hancock, GA	416	Speech Therapy	1 in 45 miles	1	416.0	416	100.0	0	0.0	5.3	18.8
Jefferson, GA	1,172	Speech Therapy	1 in 45 miles	2	586.0	1,172	100.0	0	0.0	5.0	15.0
Jenkins, GA	730	Speech Therapy	1 in 45 miles	1	730.0	730	100.0	0	0.0	4.9	19.5
Lincoln, GA		Speech Therapy	1 in 45 miles	0			100.0	0	0.0		18.2
McDuffie, GA	2,363	Speech Therapy	1 in 45 miles	0		2,363	100.0	0	0.0	13.4	16.8
Putnam, GA	1,191	Speech Therapy	1 in 45 miles	1	1,191.0		100.0	0	0.0		14.5
Taliaferro, GA	100	Speech Therapy	1 in 45 miles	1	100.0		100.0	0	0.0	6.2	
Warren, GA		Speech Therapy	1 in 45 miles	1	529.0		100.0	0	0.0		15.1
Washington, GA		Speech Therapy	1 in 45 miles	12	90.8		100.0	0	0.0	3.5	3.9
Wilkes, GA	796	Speech Therapy	1 in 45 miles	6	132.7	796	100.0	0	0.0	4.5	5.1
Grand Totals	13,921	Speech Therapy	1 in 45 miles	45	309.4	13,921	100.0	0	0.0	7.3	12.1
© 2022 Ouget Analytics II C				_[	<u> </u>						

## **Outpatient Radiology Services - Urban**

October 26, 2022

Access Analysis
Outpatient Radiology Services- Urban
Member / Provider Groups
Urban Members (EAST\_URBAN)
Outpatient Radiology Services

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA		Outpatient Radiology	1 in 30 miles	13			100.0		0.0	4.5	
Richmond, GA	18,940	Outpatient Radiology	1 in 30 miles	217	87.3	18,940	100.0	0	0.0	4.6	4.8
Grand Totals	26,510	Outpatient Radiology	1 in 30 miles	230	115.3	26,510	100.0	0	0.0	4.6	5.0
2022 Ouget Analytics LLC	•		-	•	-	•	•			•	•——

# **Outpatient Radiology Services - Rural**

October 26, 2022

Access Analysis
Outpatient Radiology Services- Rural
Member / Provider Groups
Rural Members (EAST\_RURAL)
Outpatient Radiology Services

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Outpatient Radiology	1 in 45 miles	14	148.1	2,073	100.0	0	0.0	8.0	8.1
Emanuel, GA	1,833	Outpatient Radiology	1 in 45 miles	1	1,833.0	1,833	100.0	0	0.0	6.1	23.0
Glascock, GA	235	Outpatient Radiology	1 in 45 miles	0		235	100.0	0	0.0	12.1	15.1
Greene, GA	967	Outpatient Radiology	1 in 45 miles	15	64.5	967	100.0	0	0.0	5.5	5.6
Hancock, GA	416	Outpatient Radiology	1 in 45 miles	0		416	100.0	0	0.0	12.9	19.7
Jefferson, GA	1,172	Outpatient Radiology	1 in 45 miles	21	55.8	1,172	100.0	0	0.0	10.7	10.8
Jenkins, GA		Outpatient Radiology	1 in 45 miles	5	146.0	730	100.0	0	0.0	4.7	4.7
Lincoln, GA	426	Outpatient Radiology	1 in 45 miles	0		426	100.0	0	0.0	12.4	12.4
McDuffie, GA	2,363	Outpatient Radiology	1 in 45 miles	15	157.5	2,363	100.0	0	0.0	4.2	6.6
Putnam, GA	1,191	Outpatient Radiology	1 in 45 miles	11	108.3	1,191	100.0	0	0.0	5.4	5.4
Taliaferro, GA	100	Outpatient Radiology	1 in 45 miles	0		100	100.0	0	0.0	17.1	17.1
Warren, GA		Outpatient Radiology	1 in 45 miles	1	529.0	529	100.0	0	0.0	11.1	14.2
Washington, GA	1,090	Outpatient Radiology	1 in 45 miles	1	1,090.0	1,090	100.0	0	0.0	13.8	22.3
Wilkes, GA	796	Outpatient Radiology	1 in 45 miles	0		796	100.0	0	0.0	22.4	22.4
Grand Totals	13,921	Outpatient Radiology	1 in 45 miles	84	165.7	13,921	100.0	0	0.0	8.6	12.3



# Amerigroup Community Care-Behavioral Health Providers

Access Analysis
East

October 26, 2022

#### **Behavioral Health - Urban**

October 26, 2022

Access Analysis Behavioral Health- Urban Member / Provider Groups Urban Members (EAST\_URBAN) Behavioral Health

			Members With	and With	out Access						
	MemberProviderCountsRatio Members to ProvidersWith AccessWithout Access							cess	Average	Distance	
County	#	Group	Standard		to Providers	#	%	#	%	1	2
Columbia, GA		Behavioral Health	1 in 30 miles	108			100.0		0.0	2.1	3.6
Richmond, GA	18,940	Behavioral Health	1 in 30 miles	251	75.5	18,940	100.0	0	0.0	1.5	2.0
Grand Totals	26,510	Behavioral Health	1 in 30 miles	359	73.8	26,510	100.0	0	0.0	1.7	2.4
© 2022 Quest Anglutics II C											

#### **Behavioral Health - Rural**

October 26, 2022

Access Analysis Behavioral Health- Rural Member / Provider Groups Rural Members (EAST\_RURAL) Behavioral Health

			Members With	and With	out Access						
	Member	F	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Behavioral Health	1 in 45 miles	16	129.6	2,073	100.0	0	0.0	6.3	6.6
Emanuel, GA	1,833	Behavioral Health	1 in 45 miles	9	203.7	1,833	100.0	0	0.0	4.7	5.0
Glascock, GA	235	Behavioral Health	1 in 45 miles	1	235.0	235	100.0	0	0.0	3.7	7.9
Greene, GA	967	Behavioral Health	1 in 45 miles	7	138.1	967	100.0	0	0.0	3.0	4.7
Hancock, GA	416	Behavioral Health	1 in 45 miles	5	83.2	416	100.0	0	0.0	4.8	5.1
Jefferson, GA	1,172	Behavioral Health	1 in 45 miles	5	234.4		100.0		0.0	9.5	9.9
Jenkins, GA	730	Behavioral Health	1 in 45 miles	2	365.0	730	100.0	0	0.0	4.7	4.7
Lincoln, GA	426	Behavioral Health	1 in 45 miles	6	71.0		100.0		0.0	3.4	4.9
McDuffie, GA	2,363	Behavioral Health	1 in 45 miles	21	112.5	2,363	100.0	0	0.0	2.7	3.4
Putnam, GA	1,191	Behavioral Health	1 in 45 miles	8	148.9	1,191	100.0	0	0.0	4.2	9.9
Taliaferro, GA	100	Behavioral Health	1 in 45 miles	1	100.0	100	100.0	0	0.0	5.8	7.6
Warren, GA	529	Behavioral Health	1 in 45 miles	3	176.3	529	100.0	0	0.0	3.2	3.7
Washington, GA	1,090	Behavioral Health	1 in 45 miles	20	54.5	1,090	100.0	0	0.0	3.3	3.8
Wilkes, GA	796	Behavioral Health	1 in 45 miles	11	72.4	796	100.0	0	0.0	3.6	4.4
Grand Totals	13,921	Behavioral Health	1 in 45 miles	115	121.1	13,921	100.0	0	0.0	4.6	5.7
		1									

# **Behavioral Health Facilities - Urban**

October 26, 2022

Access Analysis

Behavioral Health Facilities- Urban

Member / Provider Groups

Urban Members (EAST\_URBAN)

Behavioral Health Facilities

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA			1 in 30 miles	18			100.0		0.0	5.0	5.3
Richmond, GA	18,940	Behavioral Health Fac	1 in 30 miles	19	996.8	18,940	100.0	0	0.0	2.7	3.4
Grand Totals	26,510	Behavioral Health Fac	1 in 30 miles	37	716.5	26,510	100.0	0	0.0	3.3	4.0
© 2022 Quest Analytics II C											

#### **Behavioral Health Facilities - Rural**

October 26, 2022

Access Analysis

Behavioral Health Facilities- Rural

Member / Provider Groups

Rural Members (EAST\_RURAL)

Behavioral Health Facilities

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Behavioral Health Fac	1 in 45 miles	4	518.3	2,073	100.0	0	0.0	7.8	8.6
Emanuel, GA	1,833	Behavioral Health Fac	1 in 45 miles	1	1,833.0	1,833	100.0	0	0.0	6.2	25.3
Glascock, GA	235	Behavioral Health Fac	1 in 45 miles	0		235	100.0	0	0.0	22.2	22.2
Greene, GA	967	Behavioral Health Fac	1 in 45 miles	0		967	100.0	0	0.0	31.7	32.9
Hancock, GA	416	Behavioral Health Fac	1 in 45 miles	0		416	100.0	0	0.0	21.6	23.3
Jefferson, GA	1,172	Behavioral Health Fac	1 in 45 miles	0		1,172	100.0	0	0.0	22.5	24.0
Jenkins, GA	730	Behavioral Health Fac	1 in 45 miles	1	730.0	730	100.0	0	0.0	4.7	22.0
Lincoln, GA	426	Behavioral Health Fac	1 in 45 miles	0		426	100.0	0	0.0	22.1	22.5
McDuffie, GA	2,363	Behavioral Health Fac	1 in 45 miles	2	1,181.5	2,363	100.0	0	0.0	3.9	3.9
Putnam, GA	1,191	Behavioral Health Fac	1 in 45 miles	0		1,191	100.0	0	0.0	13.7	21.2
Taliaferro, GA	100	Behavioral Health Fac	1 in 45 miles	0		100	100.0	0	0.0	27.6	27.7
Warren, GA	529	Behavioral Health Fac	1 in 45 miles	0		529	100.0	0	0.0	13.8	13.8
Washington, GA	1,090	Behavioral Health Fac	1 in 45 miles	0		1,090	100.0	0	0.0	28.0	30.3
Wilkes, GA	796	Behavioral Health Fac	1 in 45 miles	0		796	100.0	0	0.0	27.8	31.2
Grand Totals	13,921	Behavioral Health Fac	1 in 45 miles	8	1,740.1	13,921	100.0	0	0.0	14.3	19.2

### **Community Service Boards - Urban**

October 26, 2022

Access Analysis
Community Service Boards- Urban
Member / Provider Groups
Urban Members (EAST\_URBAN)
Community Service Boards

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA		Community Service B	1 in 30 miles	2			100.0			3.5	
Richmond, GA	18,940	Community Service B	1 in 30 miles	5	3,788.0	18,940	100.0	0	0.0	3.5	5.6
Grand Totals	26,510	Community Service B	1 in 30 miles	7	3,787.1	26,510	100.0	0	0.0	3.5	5.7
© 2022 Quest Analytics, LLC.											

# **Community Service Boards - Rural**

October 26, 2022

Access Analysis
Community Service Boards- Rural
Member / Provider Groups
Rural Members (EAST\_RURAL)
Community Service Boards

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Community Service B	1 in 45 miles	0		2,073	100.0	0	0.0	21.7	24.6
Emanuel, GA	1,833	Community Service B	1 in 45 miles	1	1,833.0	1,833	100.0	0	0.0	6.2	24.4
Glascock, GA	235	Community Service B	1 in 45 miles	0		235	100.0	0	0.0	21.4	23.3
Greene, GA	967	Community Service B	1 in 45 miles	2	483.5	967	100.0	0	0.0	5.0	11.0
Hancock, GA	416	Community Service B	1 in 45 miles	1	416.0	416	100.0	0	0.0	5.4	21.3
Jefferson, GA	1,172	Community Service B	1 in 45 miles	0		1,172	100.0	0	0.0	21.5	25.1
Jenkins, GA	730	Community Service B	1 in 45 miles	0		730	100.0	0	0.0	28.4	29.1
Lincoln, GA	426	Community Service B	1 in 45 miles	0		426	100.0	0	0.0	28.1	31.4
McDuffie, GA		Community Service B	1 in 45 miles	0			100.0	0	0.0	12.2	17.6
Putnam, GA		Community Service B	1 in 45 miles	0			100.0	0	0.0	17.5	
Taliaferro, GA		Community Service B	1 in 45 miles	0			100.0	0	0.0	16.7	19.7
Warren, GA		Community Service B	1 in 45 miles	0		529	100.0	0	0.0	21.3	25.4
Washington, GA	1,090	Community Service B	1 in 45 miles	3	363.3	1,090	100.0	0	0.0	4.9	
Wilkes, GA		Community Service B	1 in 45 miles	0			100.0	0	0.0	22.8	
		·									
Grand Totals	13,921	Community Service B	1 in 45 miles	7	1,988.7	13,921	100.0	0	0.0	15.3	21.0

# **Psychiatric Residential Treatment Facilities - Urban**

October 26, 2022

Access Analysis
Psychiatric Residential Treatment
Facilities(PRTFs)-Urban

Member / Provider Groups
Urban Members (EAST\_URBAN)
Psychiatric Residential Treatment
Facilities(PRTFs)

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA		Psychiatric Residentia	1 in 30 miles	0			100.0				7.7
Richmond, GA	18,940	Psychiatric Residentia	1 in 30 miles	2	9,470.0	18,940	100.0	0	0.0	7.5	7.5
Grand Totals	26,510	Psychiatric Residentia	1 in 30 miles	2	13,255.0	26,510	100.0	0	0.0	7.6	7.6
© 2022 Quest Analytics. LLC.											

### **Psychiatric Residential Treatment Facilities - Rural**

October 26, 2022

Access Analysis
Psychiatric Residential Treatment
Facilities(PRTFs)- Rural

Member / Provider Groups Rural Members (EAST\_RURAL) Psychiatric Residential Treatment Facilities(PRTFs)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Psychiatric Residentia	1 in 45 miles	0		1,725	83.2	348	16.8	32.9	32.9
Emanuel, GA	1,833	Psychiatric Residentia	1 in 45 miles	0		0			100.0	65.4	65.4
Glascock, GA	235	Psychiatric Residentia	1 in 45 miles	0		183	77.9	52	22.1	41.8	41.8
Greene, GA	967	Psychiatric Residentia	1 in 45 miles	0		0	0.0		100.0	62.8	62.9
Hancock, GA	416	Psychiatric Residentia	1 in 45 miles	0		0	0.0	416	100.0	58.3	58.3
Jefferson, GA	1,172	Psychiatric Residentia	1 in 45 miles	0		837	71.4		28.6	40.8	40.8
Jenkins, GA	730	Psychiatric Residentia	1 in 45 miles	0		43	5.9	687	94.1	49.7	49.7
Lincoln, GA	426	Psychiatric Residentia	1 in 45 miles	0		419	98.4	7	1.6	37.1	37.1
McDuffie, GA	2,363	Psychiatric Residentia	1 in 45 miles	0		2,363	100.0	0	0.0	23.9	23.9
Putnam, GA	1,191	Psychiatric Residentia	1 in 45 miles	0		0	0.0	1,191	100.0	70.8	71.7
Taliaferro, GA	100	Psychiatric Residentia	1 in 45 miles	0		13	13.0	87	87.0	48.6	48.6
Warren, GA	529	Psychiatric Residentia	1 in 45 miles	0		526	99.4	3	0.6	35.5	35.5
Washington, GA	1,090	Psychiatric Residentia	1 in 45 miles	0		0	0.0	1,090	100.0	65.2	65.2
Wilkes, GA	796	Psychiatric Residentia	1 in 45 miles	0		75	9.4	721	90.6	48.8	48.8
Grand Totals	13,921	Psychiatric Residentia	1 in 45 miles	0		6,184	44.4	7,737	55.6	47.2	47.3

#### **Psychologists - Urban**

October 26, 2022

Access Analysis
Psychologists- Urban
Member / Provider Groups
Urban Members (EAST\_URBAN)
Psychologists

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA	7,570	Psychologists	1 in 30 miles	7	1,081.4	7,570	100.0	0	0.0	5.2	5.6
Richmond, GA		Psychologists	1 in 30 miles	36	526.1		100.0	0		3.6	5.5
Grand Totals	26,510	Psychologists	1 in 30 miles	43	616.5	26,510	100.0	0	0.0	4.1	5.5
© 2022 Quest Analytics, LLC.											

#### **Psychologists - Rural**

October 26, 2022

Access Analysis
Psychologists- Rural

Member / Provider Groups
Rural Members (EAST\_RURAL)
Psychologists

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Psychologists	1 in 45 miles	0					0.0	23.8	29.1
Emanuel, GA	1,833	Psychologists	1 in 45 miles	0		1,833			0.0	24.3	34.2
Glascock, GA		Psychologists	1 in 45 miles	0		235			0.0	36.1	38.1
Greene, GA		Psychologists	1 in 45 miles	0		967			0.0	20.2	23.7
Hancock, GA		Psychologists	1 in 45 miles	0		416			0.0	23.1	23.1
Jefferson, GA		Psychologists	1 in 45 miles	0		994	84.8		15.2	36.4	39.1
Jenkins, GA		Psychologists	1 in 45 miles	0		730	100.0		0.0	28.8	30.6
Lincoln, GA	426	Psychologists	1 in 45 miles	0		426			0.0	31.5	31.7
McDuffie, GA	2,363	Psychologists	1 in 45 miles	0		2,363			0.0	21.7	22.6
Putnam, GA	1,191	Psychologists	1 in 45 miles	0		1,191			0.0	17.3	18.2
Taliaferro, GA	100	Psychologists	1 in 45 miles	0		100	100.0	0	0.0	33.3	36.2
Warren, GA	529	Psychologists	1 in 45 miles	0		529	100.0		0.0	33.3	34.2
Washington, GA	1,090	Psychologists	1 in 45 miles	0		1,080	99.1	10	0.9	34.0	34.0
Wilkes, GA	796	Psychologists	1 in 45 miles	0		796	100.0	0	0.0	33.5	38.6
Grand Totals	13,921	Psychologists	1 in 45 miles	0		13,733	98.6	188	1.4	26.2	29.5
			Į								

#### **Psychiatrists - Urban**

October 26, 2022

Access Analysis
Psychiatry- Urban

Member / Provider Groups
Urban Members (EAST\_URBAN)
Psychiatry

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac		Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA	7,570	Psychiatry	1 in 30 miles	6			100.0		0.0	5.0	
Richmond, GA	18,940	Psychiatry	1 in 30 miles	71	266.8	18,940	100.0	0	0.0	2.8	3.8
								_			
Grand Totals	26,510	Psychiatry	1 in 30 miles	77	344.3	26,510	100.0	0	0.0	3.4	4.3
@ 2022 Quest Analytics LLC											

#### **Psychiatrists - Rural**

October 26, 2022

Access Analysis
Psychiatry- Rural

Member / Provider Groups
Rural Members (EAST\_RURAL)
Psychiatry

	Members With and Without Access											
	Member	ember Provider		Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Burke, GA	2,073	Psychiatry	1 in 45 miles	1	2,073.0	2,073	100.0	0	0.0	16.3	22.1	
Emanuel, GA	1,833	Psychiatry	1 in 45 miles	1	1,833.0	1,833	100.0	0	0.0	6.7	27.3	
Glascock, GA	235	Psychiatry	1 in 45 miles	0		235	100.0	0	0.0	14.4	18.6	
Greene, GA	967	Psychiatry	1 in 45 miles	2	483.5	967	100.0	0	0.0	4.2	10.2	
Hancock, GA		Psychiatry	1 in 45 miles	1	416.0	416	100.0	0	0.0	6.8	21.0	
Jefferson, GA	1,172	Psychiatry	1 in 45 miles	2	586.0	1,172	100.0	0	0.0	10.1	14.3	
Jenkins, GA	730	Psychiatry	1 in 45 miles	0		730	100.0	0	0.0	28.5	30.4	
Lincoln, GA	426	Psychiatry	1 in 45 miles	0		426	100.0	0	0.0	19.2	24.0	
McDuffie, GA	2,363	Psychiatry	1 in 45 miles	1	2,363.0	2,363	100.0	0	0.0	4.5	19.9	
Putnam, GA	1,191	Psychiatry	1 in 45 miles	1	1,191.0	1,191	100.0	0	0.0	6.0	15.8	
Taliaferro, GA	100	Psychiatry	1 in 45 miles	0		100	100.0	0	0.0	13.3	15.8	
Warren, GA	529	Psychiatry	1 in 45 miles	0		529	100.0	0	0.0	11.0	21.6	
Washington, GA	1,090	Psychiatry	1 in 45 miles	1	1,090.0	1,090	100.0	0	0.0	5.9	27.8	
Wilkes, GA	796	Psychiatry	1 in 45 miles	1	796.0	796	100.0	0	0.0	5.4	24.2	
Grand Totals	13,921	Psychiatry	1 in 45 miles	11	1,265.5	13,921	100.0	0	0.0	9.5	21.3	

#### **Autism Spectrum Disorder Treatment Provider - Urban**

October 26, 2022

Access Analysis

Autism Spectrum Disorder(ASD) Treatment Provider- Urban

Member / Provider Groups
Urban Members (EAST\_URBAN)
Autism Spectrum Disorder(ASD)
Treatment Provider

Members With and Without Access											
	Member	Pr	ovider	Counts	Ratio Members	With Access Without Acc		cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA		Autism Spectrum Diso	1 in 30 miles	41	184.6		100.0			5.2	5.5
Richmond, GA	18,940	Autism Spectrum Diso	1 in 30 miles	31	611.0	18,940	100.0	0	0.0	5.3	5.3
Grand Totals	26,510	Autism Spectrum Diso	1 in 30 miles	72	368.2	26,510	100.0	0	0.0	5.3	5.4
© 2022 Quest Analytics, LLC											

### **Autism Spectrum Disorder Treatment Provider - Rural**

October 26, 2022

Access Analysis

Autism Spectrum Disorder(ASD)

Treatment Provider- Rural

Member / Provider Groups
Rural Members (EAST\_RURAL)
Autism Spectrum Disorder(ASD)
Treatment Provider

Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Access		Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Burke, GA	2,073	Autism Spectrum Diso	1 in 45 miles	8	259.1	2,073	100.0	0	0.0	8.4	8.4
Emanuel, GA	1,833	Autism Spectrum Diso	1 in 45 miles	0		1,833	100.0	0	0.0	26.6	26.7
Glascock, GA	235	Autism Spectrum Diso	1 in 45 miles	0		235	100.0	0	0.0	36.6	36.6
Greene, GA	967	Autism Spectrum Diso	1 in 45 miles	0		967	100.0	0	0.0	31.9	31.9
Hancock, GA	416	Autism Spectrum Diso	1 in 45 miles	0		416	100.0	0	0.0	22.3	22.3
Jefferson, GA	1,172	Autism Spectrum Diso	1 in 45 miles	0		1,172	100.0	0	0.0	27.0	27.0
Jenkins, GA		Autism Spectrum Diso	1 in 45 miles	2	365.0		100.0	0	0.0	4.7	4.7
Lincoln, GA		Autism Spectrum Diso	1 in 45 miles	0		426	100.0	0	0.0	27.4	31.5
McDuffie, GA	2,363	Autism Spectrum Diso	1 in 45 miles	0		2,363	100.0	0	0.0	22.3	22.4
Putnam, GA		Autism Spectrum Diso	1 in 45 miles	0			100.0	0	0.0	13.7	13.7
Taliaferro, GA	100	Autism Spectrum Diso	1 in 45 miles	0		100	100.0	0	0.0	41.7	42.5
Warren, GA	529	Autism Spectrum Diso	1 in 45 miles	0		529	100.0	0	0.0	34.0	34.0
Washington, GA	1,090	Autism Spectrum Diso	1 in 45 miles	0		1,090	100.0	0	0.0	30.1	30.1
Wilkes, GA		Autism Spectrum Diso	1 in 45 miles	0			100.0	0	0.0	37.6	40.0
Grand Totals	13,921	Autism Spectrum Diso	1 in 45 miles	10	1,392.1	13,921	100.0	0	0.0	22.7	23.0
© 2022 Quaet Analytics II C											

### **Narcotic Treatment Program - Urban**

October 26, 2022

Access Analysis
Narcotic Treatment Program- Urban
Member / Provider Groups
Urban Members (EAST\_URBAN)
Narcotic Treatment Program

Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA		Narcotic Treatment Pr	1 in 30 miles	0		7,457			1.5	14.7	98.3
Richmond, GA	18,940	Narcotic Treatment Pr	1 in 30 miles	1	18,940.0	18,940	100.0	0	0.0	6.5	101.4
Grand Totals	26,510	Narcotic Treatment Pr	1 in 30 miles	1	26,510.0	26,397	99.6	113	0.4	8.8	100.5

# **Narcotic Treatment Program - Rural**

October 26, 2022

Access Analysis
Narcotic Treatment Program-Rural
Member / Provider Groups
Rural Members (EAST\_RURAL)
Narcotic Treatment Program

	Members With and Without Access											
	Member	Member Provider		Counts	Ratio Members	With Ac	cess	Without Access		Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Burke, GA	2,073	Narcotic Treatment Pr	1 in 45 miles	0		2,001	96.5	72	3.5	25.2	89.6	
Emanuel, GA	1,833	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	1,833	100.0	59.0	77.5	
Glascock, GA	235	Narcotic Treatment Pr	1 in 45 miles	0		235	100.0	0	0.0	37.4	68.0	
Greene, GA	967	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	967	100.0	61.0	63.5	
Hancock, GA	416	Narcotic Treatment Pr	1 in 45 miles	0		45	10.8	371	89.2	52.0	54.6	
Jefferson, GA	1,172	Narcotic Treatment Pr	1 in 45 miles	0		954	81.4	218	18.6	36.3	74.8	
Jenkins, GA	730	Narcotic Treatment Pr	1 in 45 miles	0		619	84.8	111	15.2	41.7	79.1	
Lincoln, GA	426	Narcotic Treatment Pr	1 in 45 miles	0		209	49.1	217	50.9	44.6	95.7	
McDuffie, GA	2,363	Narcotic Treatment Pr	1 in 45 miles	0		2,363	100.0	0	0.0	27.7	84.2	
Putnam, GA	1,191	Narcotic Treatment Pr	1 in 45 miles	0		995	83.5	196	16.5	40.4	42.2	
Taliaferro, GA	100	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	100	100.0	53.5	74.0	
Warren, GA	529	Narcotic Treatment Pr	1 in 45 miles	0		527	99.6	2	0.4	36.8	74.8	
Washington, GA	1,090	Narcotic Treatment Pr	1 in 45 miles	0		77	7.1	1,013	92.9	49.7	52.5	
Wilkes, GA	796	Narcotic Treatment Pr	1 in 45 miles	0		7	0.9	789	99.1	56.3	79.0	
Grand Totals	13,921	Narcotic Treatment Pr	1 in 45 miles	0		8,032	57.7	5,889	42.3	41.6	74.0	

126

#### **Licensed Counselors and Social Workers - Urban**

October 26, 2022

Access Analysis
Licensed Counsler and Social
Workers- Urban

Member / Provider Groups
Urban Members (EAST\_URBAN)
Licensed Counsler and Social
Workers

Members With and Without Access											
	Member Provider		ovider	Counts	Ratio Members	With Access		Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Columbia, GA			1 in 30 miles	8	946.3	7,570	100.0	0		5.1	5.5
Richmond, GA	18,940	Licensed Counsler an	1 in 30 miles	14	1,352.9	18,940	100.0	0	0.0	3.5	3.9
Grand Totals	26,510	Licensed Counsler an	1 in 30 miles	22	1,205.0	26,510	100.0	0	0.0	4.0	4.4
© 2022 Quest Analytics, LLC.							_				

#### **Licensed Counselors and Social Workers - Rural**

October 26, 2022

Access Analysis
Licensed Counsler and Social
Workers- Rural

Member / Provider Groups
Rural Members (EAST\_RURAL)
Licensed Counsler and Social
Workers

	Members With and Without Access												
	Member Provider		ovider	Counts	Ratio Members	With Ac	cess	Without Access		Average Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Burke, GA	2,073	Licensed Counsler an	1 in 45 miles	1	2,073.0	2,073	100.0	0	0.0	22.6	25.9		
Emanuel, GA	1,833	Licensed Counsler an	1 in 45 miles	1	1,833.0	1,833	100.0	0	0.0	6.4	28.0		
Glascock, GA	235	Licensed Counsler an	1 in 45 miles	0			100.0		0.0	14.4	20.7		
Greene, GA		Licensed Counsler an	1 in 45 miles	1	967.0		100.0		0.0	10.7	15.3		
Hancock, GA	416	Licensed Counsler an	1 in 45 miles	1	416.0	416	100.0	0	0.0	5.6	21.0		
Jefferson, GA	1,172	Licensed Counsler an	1 in 45 miles	1	1,172.0		100.0		0.0	10.2	17.6		
Jenkins, GA	730	Licensed Counsler an	1 in 45 miles	0			100.0		0.0	28.7	29.8		
Lincoln, GA	426	Licensed Counsler an	1 in 45 miles	0		426	100.0	0	0.0	30.5	31.6		
McDuffie, GA	2,363	Licensed Counsler an	1 in 45 miles	0		2,363	100.0	0	0.0	20.2	22.1		
Putnam, GA	1,191	Licensed Counsler an	1 in 45 miles	3	397.0	1,191	100.0	0	0.0	11.7	12.1		
Taliaferro, GA	100	Licensed Counsler an	1 in 45 miles	0		100	100.0	0	0.0	22.4	23.2		
Warren, GA	529	Licensed Counsler an	1 in 45 miles	0		529	100.0	0	0.0	24.4	27.9		
Washington, GA	1,090	Licensed Counsler an	1 in 45 miles	3	363.3	1,090	100.0	0	0.0	4.1	5.6		
Wilkes, GA	796	Licensed Counsler an	1 in 45 miles	0		796	100.0	0	0.0	26.4	36.4		
Grand Totals	13,921	Licensed Counsler an	1 in 45 miles	11	1,265.5	13,921	100.0	0	0.0	16.0	22.1		